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Question Number : 1 Question Id : 8513303304 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which class of chromosome locates its centromere closer to one end?

1. Metacentric chromosome

2. Sub-metacentric chromosome
3. Acrocentric chromosome

4. Telocentric chromosome
Options :

85133013201. 1

85133013202. 2

85133013203. 3

85133013204. 4

Question Number : 1 Question Id : 8513303304 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133013201. 1
85133013202. 2
85133013203. 3
85133013204. 4

Question Number : 2 Question Id : 8513303305 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

When is the maximum temperature recorded in the observatory?

1. 05:00 am
2. 12:00 pm
3. 05:00 pm
4, 02:00 pm
Options :
85133013205.
85133013206.
85133013207.
85133013208.
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Question Number : 2 Question Id : 8513303305 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. 05:00 am

2. 12:00 pm

3. 05:00 pm

4. 02:00 pm
Options :
85133013205. 1



85133013206. 2
85133013207. 3
85133013208. 4

Question Number : 3 Question Id : 8513303306 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which microorganism is present in the soil in the largest number?

1. Fungi

2. Actinomycetes
3. Bacteria

4. Protozoa
Options :
85133013209. 1
85133013210.2
85133013211. 3
85133013212. 4

Question Number : 3 Question Id : 8513303306 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133013209. 1
85133013210. 2
85133013211. 3



85133013212. 4

Question Number : 4 Question Id : 8513303307 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Given below are two statements
Statement I: There is no harmful effect on soil fertility and plant growth due to biofertilizers.

Statement Il: Many microorganisms produce growth-promoting substances which promote
growth and development of roots and shoots.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true and Statement |l is false.
4, Statement | is false and Statement |l is true.
Options :

85133013213. 1

85133013214. 2

85133013215. 3

85133013216. 4

Question Number : 4 Question Id : 8513303307 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



i< &g U &1 Syl B Ug
®YHA-1 : 5id I b HRUI Hal Jadl Ud UGy gl W BliHdR® UHEG T8l gidl g |

DYA-1 : Dy, Y& Sild gl DR Uard Faa &d 5, ol Sl Ud ransii @1 ghs ud f[aore o
EEGEL

SR Yl & TwaH H, 8 H T gaiftd Iugdd 3wk 99+ o ;

1. T HYF-1 T HYF-11 Tel 5|

2. GHFI ®YH-1 Td HYF-11 TTad & |

3. BYA-1 T8l ©, Tice- ®Y=-11 TTad g |
4, HYF-1 7T &, At YA-11 Tl 6
Options :

85133013213. 1

85133013214. 2

85133013215. 3

85133013216. 4

Question Number : 5 Question Id : 8513303308 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: The DNA polymerase | have the unique ability to initiate in vitro replication in a
DNA strand.

Statement Il: DNA polymerase |l possesses 553" polymerase and 3'55° exonuclease
activities, and is responsible for DNA replication in vivo.

In light of the above statements, choose the most appropriate answer from the options
given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true and Statement |l is false.
4, Statement | is false and Statement |l is true.
Options :

85133013217. 1

85133013218. 2

85133013219. 3

85133013220. 4

Question Number : 5 Question Id : 8513303308 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



EIEAAKIE DB AR
DYH-1 : ST UIferEy | 3 fafRy aHar gidl & ol S1LUH.U %08 H 3=0:Ur GRIfaRT &l URe

GEGIN
HYF-1l : ST U 11 H 5= 3° UTerRs U4 3° — 5 Taei=giaaed afafiar gid & &k
wiaf & ST TRIg0q & o SHeR gl g |

SWRIdd HYHl &b TaH H Faiide Iugdd [ddhed bl gg- By -

1. BYF-1 T HYF-11 G Tel 5|

2. WYA-| TF HYA-1 G TTad g

3. BY-1 98! § i ®YH-11 Tad o |
4, HYF-1 7T § T HYF-1l Fol o
Options :

85133013217. 1

85133013218. 2

85133013219. 3

85133013220. 4

Question Number : 6 Question Id : 8513303309 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Drought can be defined in any area when the rainfall deficiency of that area is
less than 26 per cent of its long term normal.

Statement II: Dry spell is a period of at least 15 consecutive days during which not a single
day rainfall occurred.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true and Statement |l is false.
4, Statement | is false and Statement |l is true.
Options :

85133013221. 1

85133013222.2

85133013223.3

85133013224. 4

Question Number : 6 Question Id : 8513303309 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133013221. 1

85133013222. 2

85133013223. 3

85133013224. 4

Question Number : 7 Question Id : 8513303310 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement |: Gene pairs segregate during gamete formation independently in Law of
Independent Assortment.

Statement ll: The alleles of one gene cannot freely combine with the alleles of another gene
in the Law of Independent Assortment.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true and Statement |l is false.
4, Statement | is false and Statement |l is true.
Options :

85133013225. 1

85133013226. 2

85133013227.3

85133013228. 4

Question Number : 7 Question Id : 8513303310 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133013225. 1

85133013226. 2

85133013227. 3

85133013228. 4

Question Number : 8 Question Id : 8513303311 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List 11

List | List 11

A, K. Mather l. The first intergeneric hybrid between
radish and cabbage.

B. T.A. Knight Il Artificial hybridization in fruit crops.
C. Karpechenko lll. Coined the term recurrent selection.
D. H. Hull IV. Concept of disruptive selection.

Choose the correct answer from the options given below:

1. A-1I, B- IV, C-1ll, D- |
2. A-IV,B-1Il, C- 11, D-1
3.A-IV,B-1I,C-1,D-11
4. A-1, B-1I,C- I, D- IV
Options :

85133013229. 1
85133013230. 2
85133013231.3
85133013232. 4

Question Number : 8 Question Id : 8513303311 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1), (B) - (IV), (C) - (1), (D) - (1)
V), (B) - (1), (C) - (I, (D) - (1)
V), (B) - (I, (C) - (1), (D) - (1)
4. (A) - (), (B) - (1), (<€) - (), (D) - (IV)
Options :

85133013229. 1

85133013230. 2

85133013231.3

85133013232. 4
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Question Number : 9 Question Id : 8513303312 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List 11

List | List 1l
A. Endozymes . Intracellular enzymes.
B. Zymogens Il. Apoenzyme + Prosthetic group
C. Holoenzymes lll. Enzymes with constant amounts
D. Constitutive enzymes V. Proenzymes

Choose the correct answer from the options given below:

1. A-1, B-1I, C- I, D- IV
2. A-1,B- IV, C- 11, D- 1
3. A-11B-1, C- IV, D- 1
4. A-1,B-IV, C-1Il, D- 1l
Options :

85133013233. 1
85133013234. 2
85133013235.3
85133013236. 4

Question Number : 9 Question Id : 8513303312 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)

2. (A) - (1), (B) - (IV), (C) - (1), (D) - (1)

3. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)

4. (A) - (), (B) - (IV), (C) - (1), (D) - (1)

Options :

85133013233. 1
85133013234.2
85133013235.3
85133013236. 4

Question Number : 10 Question Id : 8513303313 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List 11

List | List 1l
A, Hexose sugar . Erythrose
B. Pentose sugar Il. Dihydroxyacetone
C. Triose sugar I, Xylose
D. Tetrose sugar V. Galactose

Choose the correct answer from the options given below:

1. A-1I, B- IV, C-1ll, D- |
2. A-IV,B-1Il, C- 11, D-1
3.A-IV,B-1I,C-1,D-11
4. A- 1LB-1I, C-1Il, D- 1V
Options :

85133013237. 1
85133013238. 2
85133013239.3
85133013240. 4

Question Number : 10 Question Id : 8513303313 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



i - | gl - 11

(A) BT Th (1) TS

(B) U=I TIhT (1) STREl3S I THieH
(C) TTUTS J[hRT (111) STaE

(D) SIS RIGT (1v) TIaieele
Fafeiad fdmedl § 9 98! 3R &l =9 B -

V), (B) - (1), (C) - (I, (D) - (1)
V), (B) - (I, (C) - (1), (D) - (1)
4. (A) - (), (B) - (1), (<€) - (), (D) - (IV)
Options :

85133013237. 1

85133013238. 2

85133013239.3

85133013240. 4

Question Number : 11 Question Id : 8513303314 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Read the following statements:

A. Mutations are non-recurrent.

B. Mutant alleles are dominant to their wild type or normal alleles.

C. A forward mutation is a mutation from the wild type allele to a mutant allele.
D. A reverse mutation is a mutation from the mutant allele to the normal allele.
Choose the correct answer from the options given below:

1.Aand B
2.BandC
3.Cand D

4 AandD
Options :
85133013241. 1
85133013242.2
85133013243.3
85133013244. 4

Question Number : 11 Question Id : 8513303314 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133013241. 1
85133013242. 2
85133013243.3
85133013244. 4

Question Number : 12 Question Id : 8513303315 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Read the following statements:

A. Transposons do not have life outside the genome.

B. Retroposons have either DNA copies of RNA viruses.

C. During replication, 3'--->5" strand of a DNA serves as a template for lagging strand
synthesis.

D. 5'---=3" strand of a DNA synthesize leading strand during replication.

Choose the correct answer from the options given below:

1.Aand B

2. Cand D

3. Aand C

4. Band D
Options :
85133013245. 1
85133013246.2
85133013247.3
85133013248. 4

Question Number : 12 Question Id : 8513303315 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133013245. 1
85133013246. 2
85133013247.3
85133013248. 4

Question Number : 13 Question Id : 8513303316 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Read the following statements:

A, Totipotency is the ability of a plant cell to develop into a complete plant.

B. Meristem culture is the regeneration of the whole plant from a naked single cell in a culture
medium.

C. Protoplast culture is the regeneration of plants from tissues of actively dividing organs.

D. The explant is the plant part which is used for regeneration in a culture medium.

Choose the correct answer from the options given below

1.Aand B

2. AandC
3.BandC

4 AandD
Options :
85133013249. 1
85133013250.2
85133013251.3
85133013252. 4

Question Number : 13 Question Id : 8513303316 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133013249. 1
85133013250. 2
85133013251.3
85133013252. 4

Question Number : 14 Question Id : 8513303317 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Tightly curled horns are a characteristic feature of which breed?

1. Murrah

2. Meeliravi

3. Surti

4, Mehsana
Options :
85133013253. 1
85133013254.2
85133013255.3
85133013256. 4



Question Number : 14 Question Id : 8513303317 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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3. gl

4. HEGH
Options :
85133013253. 1
85133013254.2
85133013255.3
85133013256. 4

Question Number : 15 Question Id : 8513303318 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which is the origin of Sahiwal breed?

1. Bikaner

2. Junagarh

3. Hyderabad
4. Montgomery
Options :
85133013257 1
85133013258. 2
85133013259. 3
85133013260. 4

Question Number : 15 Question Id : 8513303318 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Aeiard -Rd @1 Jdwl T $al o ?

1. SIBR

2. 9-Me

3. BTG

4. AR
Options :
85133013257. 1
85133013258. 2
85133013259.3
85133013260. 4

Question Number : 16 Question Id : 8513303319 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Read the following statements:

A. Hariyana is a dual-purpose breed of cattle.

B. Karan Swiss is a hybrid cattle.

C. Karan Fries was developed at NDRI, Karnal.

D. Deoni is a milch breed of cattle.

E. Red Sindhi is a dual-purpose breed.

Choose the correct answer from the options given below:

1.A CDandE
2. A BandC
3.DandE

4. A BandE
Options :
85133013261. 1



85133013262. 2
85133013263.3
85133013264. 4

Question Number : 16 Question Id : 8513303319 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133013261. 1
85133013262. 2
85133013263.3
85133013264. 4

Question Number : 17 Question Id : 8513303320 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Read the following statements:

A. Angola goat is known for ‘Mohair’.

B. Kashmiri breed of goat is known for ‘Pashmina’.

C. Modern milk goat breed has been developed for the first time in India.
D. Goat milk is not easily digestible.

E. Roman Nose is a characteristic feature of Jamunapari.

Choose the correct answer from the options given below:

1.4 Band C
2B CandD
3.C,DandE
4 A BandE
Options :
85133013265. 1
85133013266. 2
85133013267.3
85133013268. 4

Question Number : 17 Question Id : 8513303320 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. (A). (B). ()
2. (B), (C). (D)
3. (Q), (D). (B)
4. (A). (B), (E)
Options :
85133013265. 1
85133013266. 2
85133013267.3
85133013268. 4
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Question Number : 18 Question Id : 8513303321 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Read the following statements:

A. The number of turnings of eggs during the early stages of incubation should be 4-6 times
daily.

B. Sufficient ventilation is not necessary for hatchability of eggs.

C. Desirable weight of an egg is 58 gram for hatching.

D. Incubated eggs should be tested on the 7% and 14™ day under natural hatching.

E. Overweight hens may be the cause of infertile eggs.

Choose the correct answer from the options given below:

1.A B, CandD
2B C,DandE
3.A CDandE
4 A B, DandE
Options :
85133013269. 1
85133013270.2
85133013271.3
85133013272. 4

Question Number : 18 Question Id : 8513303321 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



frafdiad syl o1 ufeu

(A) I BT URMAIE 36w § UfdfeT HUs! &f Udied @1 9= 4-6 R 54T dNeU|
(B) 3US! & T D &Hdl & [ U0 841 & ATGRTHA DI a4ddl el aidl o

(C) 308 I & T 3(Us] &7 qifesd dor 58 TH BT 6

(D) 308 T & Uidbfdd febar & IR US| &1 uRemr 7 4 ud 14 d &9 &A1 91fguy
(E) T¥1 1 HIeT B, AR 3Us I 514 B HRU 5l Fhdl 5|

Fafeiad fdmedl § 9 98! Syl did THE &1 9d- ®X :

1. (A). (B),
2. (B), (C).
3. (A), (C),

4. (A). (B),
Options :
85133013269. 1
85133013270.2
85133013271.3
85133013272. 4

(Q). (D)
(D). (E)
(D). (E)
(D). (

(
(B). (D). (E)

Question Number : 19 Question Id : 8513303322 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Leather is considered to be the most important raw material in the Indian
economy after jute and cotton.

Statement II: Silent heat refers to normal follicular development and ovulation without the
behavioural signs of oestrus.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are true.

2. Both Statement | and Statement Il are false.

3. Statement | is true and Statement |l is false.

4, Statement | is false and Statement Il is correct.
Options :

85133013273. 1

85133013274. 2

85133013275.3

85133013276. 4

Question Number : 19 Question Id : 8513303322 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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®YA - || : HYBI H 3 & AdgIRD A& 6@ f6-1 TG DU [dbr Td fSraaru g,
T HEdh I dhedldl %I

SWRIT By b T H Falftd Iugad fdded B 98- B -

1. HYF - | Td Y - 1| GH TBl g

2. WY - | Td TYA - || G TTad g

3. YT - | Fol g O] &Y - 1 Tad & |
4, ®Y - | 7TAd g it &Y - 1| T8l g
Options :

85133013273. 1

85133013274 2

85133013275. 3

85133013276 4

Question Number : 20 Question Id : 8513303323 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement |: Energy-rich concentrates have more than 18 per cent crude protein content.

Statement II: Cowpea, lucerne and berseem are succulent, proteinaceous and leguminous
green fodder crops.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are true.

2. Both Statement | and Statement Il are false.

3. Statement | is true and Statement |l is false.

4, Statement | is false and Statement Il is correct.
Options :

85133013277. 1

85133013278. 2

85133013279. 3

85133013280. 4

Question Number : 20 Question Id : 8513303323 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



i & T Sl 1 ue -

BT - | : 3MED ol ardd gFT H 18 WiAwd i@ uigd Ui sidl 8l

©YH - 11 : Iaal, Ree! Td SR i, UidHgad Ud ol 831 IR dlcll BHd 6 |
SR BYH! & IgH H Faiidd 3ugad [dbed & 94 B -

1. HYF - | Td Y - 1| GH TBl g

2. WY - | Td TYA - || G TTad g

3. YT - | Fol g, Tl &Y - 1 Tad g |
4, TYF - | 7TAd ©, e BYT - 11 T81 ©
Options :

85133013277. 1

85133013278. 2

85133013279. 3

85133013280. 4

Question Number : 21 Question Id : 8513303324 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Generally buffaloes show sign of heat at night and it has been observed to be
maximum at midnight.

Statement |I: Buffalo bull attains sexual maturity later than ox bull.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are true.

2. Both Statement | and Statement |l are false.

3. Statement | is true and Statement Il is false.

4, Statement | is false and Statement Il is correct.
Options :

85133013281. 1

85133013282.2

85133013283.3

85133013284. 4

Question Number : 21 Question Id : 8513303324 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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BU - | : T 59 T o & 601 314 H SRt 8, Ud 78 7 A F oiftidan dan T g
®Y - 1| : R S & A uiumar a5 B o 8 916 § 31t 81

SWRIT DYl & G H Failud I by BT 989 B ;

1. DYF - 1 Td HY - 1| ST GEL &

2. WY - | Td TYA - || G TTad g

3. YT - | Fol g, Tl &Y - 1 Tad g |
4, TYF - | 7TAd ©, e BYT - 11 T81 ©
Options :

85133013281. 1

85133013282 2

85133013283. 3

85133013284. 4

Question Number : 22 Question Id : 8513303325 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List 11

List | List I
A. Buffalo . 282 days
B. Cow Il. 310 days
C. Sheep IIl. 148 - 156 days
D. Goat V. 144 - 147 days

Choose the correct answer from the options given below:

1. A-1I, B- 1, C- IV, D- Il
2. A-1,B-1,C-1,D- 1V
3.A-1,B-1,C-1I, D- IV
4. A-1, B-1Il, C-1I,D- IV
Options :

85133013285. 1
85133013286. 2
85133013287. 3
85133013288. 4

Question Number : 22 Question Id : 8513303325 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



gt - | BT gl - 11 Y i &

gl - | gl - 1l

(A) 99 () 282 feq

(B) MU any 310 &4

C) 93 (1) 148-156 &4
(D) FB31 (IV) 144-147 f&4
Frafafad faseal § ¥ 981 IR &1 9a4 &l
1. (A) - (1), (B) - (), (C) - (IV), (D) - (1n)

2. (A) - (1), (B) - (1), (C) - (Hn), (D) - (IV)

3. (A) - (1), (B) - (1), (C) - (hn), (D) - (IV)

4. (A) - (1), (B) - (Im), (C) - (1), (D) - (IV)
Options :

85133013285. 1
85133013286. 2
85133013287.3
85133013288. 4

Question Number : 23 Question Id : 8513303326 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Read the following statements:

A. Oxytocin is secreted from the posterior pituitary glands and is must for milk let down.

B. Adrenal corticoids are essential for milk secretion but excess amount inhibits lactation.

C. Oxytocin is secreted from anterior pituitary glands and is must for milk let down.

D. Adrenal corticoids are essential for milk secretion and an excess amount extends the
lactation.

E. Parathyroid hormone regulates calcium and phosphorus levels in the blood.

Choose the correct answer from the options given below

1.A B, CandD
2B C,DandE

3. A, B andE only
4.C, D and E only
Options :
85133013289. 1
85133013290. 2
85133013291. 3
85133013292. 4

Question Number : 23 Question Id : 8513303326 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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fFrafciied fasedl & 9 98l Y ard 9Hg &I 9T :

Options :

85133013289. 1
85133013290. 2
85133013291. 3
85133013292. 4

Question Number : 24 Question Id : 8513303327 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il regarding the volume of semen in one ejaculation:

List | List Il
A. Bull . 3.5 ml
B. Ram Il. 8.0 ml
C. Boar 1. 1.0 ml
D. Man V. 215 ml

Choose the correct answer from the options given below:

1. A- I, B- 1, C- IV, D- |
2 A-1,B-1,C-1V,D-1
3.A-1L,B-1IL,C-1V,D-1
4. A- IV, B- 11, C-1ll, D- |
Options :

85133013293. 1
85133013294. 2
85133013295.3
85133013296. 4

Question Number : 24 Question Id : 8513303327 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Tdl- | B Gl 11 W TP aR d AR &l & SaH H GHi $1

qal- | gl- |

(A) 9ig (1) 3.5 fdifae

(B) Hel () 8.0 fieiifeex

C) g3R (1 1.0 Foeiferey
(D) AHd (Iv) 215 fErcidfcrex
fafeRad faeeal # 4 U6l STk ol 981 &Y
1. (A) - (1), (B) - (1), (C) - (), (D) - (1)

2. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)

3. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)

4. (A) - (IV), (B) - (1), (C) - (hn), (D) - (0

Options :

85133013293. 1
85133013294. 2
85133013295.3
85133013296. 4

Question Number : 25 Question Id : 8513303328 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement |: Cervical semen deposition and uterine semen deposition have equal conception
rates.

Statement Il: Recto-vaginal technique of artificial insemination is an easy, safe and widely
used method.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are true.

2. Both Statement | and Statement |l are false.

3. Statement | is true and Statement Il is false.

4, Statement | is false and Statement Il is correct.
Options :

85133013297. 1

85133013298. 2

85133013299. 3

85133013300. 4

Question Number : 25 Question Id : 8513303328 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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®Y - |- 7 Frar & &d wre ue iR F 9w e 01, THYR 6 9HE Bidl 21
TU - || : AARM - - faf gR1 BiEm iy 31 ol 9ad Wiam, o vd galfte Suanf )

SWRIT By b T H Falftd Iugad fdded B 98- B -

1. YT - T HY - 1| THI T8l &

2. BYF - | TG BY - || QA TTad &

3. @Y - | T8l &, dfted &Y - 1| Tad g
4. TYF - | TTAd &, AP HY - 1| Tl &
Options :

85133013297. 1

85133013298. 2

85133013299. 3

85133013300. 4

Question Number : 26 Question Id : 8513303329 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

What is the net cultivated area of India?

1. 136 million hectare
2. 140 million hectare
3. 142 million hectare
4, 145 million hectare
Options :
85133013301. 1
85133013302. 2
85133013303.3
85133013304. 4



Question Number : 26 Question Id : 8513303329 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
YRd | YG $iY 917 &7 fha g 2

1. 136 ffTg 8aem
2. 140 fHfeTA 8ae
3. 142 fAfeA Bae
4. 145 fafogT gaem
Options :
85133013301. 1
85133013302 2
85133013303. 3
85133013304 4

Question Number : 27 Question Id : 8513303330 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Indian soils are most deficient in which one of the following secondary nutrients?

1. Calcium

2. Sulphur

3. Mangnesium
4. Manganese
Options :
85133013305. 1
85133013306. 2
85133013307. 3
85133013308. 4

Question Number : 27 Question Id : 8513303330 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

YR ge1 # 6y fgdi uive da 1 valits Sl e 2

1. BicHgH

2. Helpd

3. BHREE
4, HTHE
Options :
85133013305. 1
85133013306. 2
85133013307.3
85133013308. 4

Question Number : 28 Question Id : 8513303331 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

What is the seed rate of pearlmillet for line sowing?

1. 10 kg/ha

2. 15 kg/ha
3.5 ka/ha

4. 20 kg/ha
Options :
85133013309. 1
85133013310.2
85133013311.3
85133013312. 4

Question Number : 28 Question Id : 8513303331 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



ok @ BaR| § gdls og 6l 6 a1 gldl © ?

1.10 {1/ B
2. 15 a1/ &,
3.5TFa /%
4 20fHa /%
Options :
85133013309. 1
85133013310. 2
85133013311. 3
85133013312. 4

Question Number : 29 Question Id : 8513303332 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: Pulses have a unique property of maintaining and restoring soil fertility through
biclogical nitrogen fixation.

Statement lI: Most of the pulses are grown as rainfed crops, in less fertile and marginal lands.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are true.

2. Both Statement | and Statement Il are false.

3. Statement | is true and Statement |l is false.

4, Statement | is false and Statement |l is correct.
Options :

85133013313. 1

85133013314. 2



85133013315.3
85133013316. 4

Question Number : 29 Question Id : 8513303332 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
< feu T Syl BT Ue -

DY - | : Gole-l DI [adl & o d Sifdd TeH FRRTGRU & A1H 9 Jal 3d3dl ®l sRa
TEd g

DY - || : T 4 U Gole-l Byd $F SUeld Ud GHH il 8 aui H1HRd 3905 ofidi g
JWRiad feU 71U HyAT H ¥ Haifte 3fad I & 994 & -

1L P - 1T BYT - 11 T8I § |

2. G PYT - 1T HYT - | 9el Tol & |
3. YT - | gl g dUT &Y - 11 7Tad g
4, HYF - 1 7Tdd & 9yl &Y - || Tal &
Options :

85133013313. 1

85133013314. 2

85133013315. 3

85133013316.4

Question Number : 30 Question Id : 8513303333 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Soil application of micro-nutrients is the most suitable method to avoid their
interaction in the soil.

Statement lI: Soils formed from acidic rocks are likely to have a high content of Co, Ni, Cr, Mn
and Cu.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are true.

2. Both Statement | and Statement Il are false.

3. Statement | is true and Statement |l is false.

4, Statement | is false and Statement Il is correct.
Options :

85133013317. 1

85133013318. 2

85133013319. 3

85133013320. 4

Question Number : 30 Question Id : 8513303333 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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®Y - | : G&H UIYS dedl I Hal | & Had IUg qiol ¢ forgd 301 Hal H 10 G T8
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©Y - 11 : H&I TSI U &1 Jal H J-IF1 Co, Ni, Cr, Mn Td Cu &I JHT MU gl &1
IWRIdd HYH( & HHR Hdlldd Jugdd IR I 994 DX ;

1. G YT - 1T HYT - 1 TR § |

2. GHI YT - 1T HYT - 1| Gel Tl § |
3. @Y - | T8l & Ot &Y - 11 Tad & |
4. TYF - | A & Tfch- &Y - 1| el 8
Options :

85133013317. 1

85133013318.2

85133013319. 3

85133013320. 4

Question Number : 31 Question Id : 8513303334 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: The optimum temperature for the activity of most of the soil micro-organisms is
40-45 °C.

Statement II: Alluvial soils form the largest and most important soil group for crop
production.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement |l are false.
3. Statement | is true and Statement Il is false.
4, Statement | is false and Statement Il is true.
Options :

85133013321. 1

85133013322.2

85133013323.3

85133013324. 4

Question Number : 31 Question Id : 8513303334 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



i f&u 1 &yl 3 Ug -
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SWRIG DY B ITUR Falldd 309G IR DI 90 DY

1. G YT - 1T HYT - 1 TR § |

2. GHI YT - 1T HYT - 1| Gel Tal g |
3. @Y - | T8l & Ot &Y - 11 Tad & |
4. TYF - | A & Tfch- &Y - 1| el 8
Options :

85133013321. 1

85133013322.2

85133013323. 3

85133013324. 4

Question Number : 32 Question Id : 8513303335 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Read the following statements:

A. Water use efficiency is defined as crop yield per unit area per unit of water use.
B. Water use efficiency is higher in drip irrigation.

C. Water use efficiency is generally high in flood irrigated conditions.

D. Water use efficiency can be increased with proper scheduling of irrigation.

E. India’s total irrigated area is approximately 90 million hectares.

Choose the correct answer from the options given below:

1.4 Band C
2 A BandD
3.A BandE
4 C,DandE
Options :
85133013325. 1
85133013326.2
85133013327.3
85133013328. 4

Question Number : 32 Question Id : 8513303335 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133013325. 1
85133013326. 2
85133013327.3
85133013328. 4

Question Number : 33 Question Id : 8513303336 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Read the following statements:

A, Strip cropping involves growing rows of erosion- resisting and erosion- permitting crops in
alternate strips.

B. Mixed-cropping and inter-cropping are important, under irrigated conditions.

C. Organic manures not only supply nutrients but also improve soil physical condition.

D. Crop residue retention on the soil surface is important for soil and water conservation.

E. The low and erratic rainfall with high-intensity results in higher runoff and soil erosion.

Choose the correct answer from the options given below:

1.A B, CandD
2B C,DandE
3.A B DandE
4 4 C DandE
Options :
85133013329. 1
85133013330.2
85133013331.3
85133013332. 4

Question Number : 33 Question Id : 8513303336 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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(A) UTE®T HEd YUlTell H &R0 -UioRIH Ud &R0 ©3 dicll Byl &1 o6 ddld UbR el §
T €

(e) Rifera ulkRufaal & ff%d ud sia-o= B uiedl Jgw@yul gidl ¢ |

(C) PIE® Wl bad UINS dwdl Bl ol SUds ol Bl & ot Jal ®I Hifdd G-Il @l Hi
GURATE |

(D) Ha&T Ud ol 36101 & folt Hel Hde IR BEd a2yl &l 3@-] eyl g

(£) HE@ Toa1 & Ty HF U4 S0 991 & SR A4S oId dls Ud Jal &70 gidl o

- feu U Syl H ¥ gaiide Suged Syl & U $1 994 B9 ;

1. (&), (B), (C) &d (D)
2. (B), (O), (D) &d (E)
3. (A), (B), (D) ¥4 (E)
4.(M), (O), (D) T (F)
Options :

85133013329. 1
85133013330. 2
85133013331.3
85133013332. 4

Question Number : 34 Question Id : 8513303337 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Read the following statements:

A. Top borer (Tryporyza nivella) is a minor pest of sugarcane.

B. A pest causing economic damage is called an economic pest.

C. Keeping the pest population below the economic threshold should be the main aim rather
than their eradication.

D. Integrated Pest Management emphasizes the need for simpler, economic and ecofriendly
measures for pest control.

E. All pests have natural enemies which limit their reproduction, growth and population.

Choose the correct answer from the options given below:

1.A B, Cand D
2B C,DandE
3.A CDandE
4 A B, DandE
Options :
85133013333. 1
85133013334.2
85133013335.3
85133013336. 4

Question Number : 34 Question Id : 8513303337 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



1 Ty B Ug -
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(B) Uh @Ic il e JhaH Ugdrdl &, it dic dgardl ol

(C) BIci & T3 B A Gociial TR & Ad [@-1 H3d 3£ gHI dliet A1 B 3-d! TH ¥
BT

(D) §HTad Bie Ua=H, Wad, i@ td taHea ardAl § Sl FEa0 3 Jaaed] 1) 9R adl
gl

(€) T Pl & WP T Bld & o 30! U], [dHT U4 Yol & GiHTf~d &d o

i feu e fasedl # ¥ Gaifte Iugad fadbedl & THg &1 9 &Y :

1. (&), (B), (C) &d (D)
2. (B), (O), (D) Wd (E)
3. (A), (O), (D) Wd (E)
4. (A), (B), (D) T (E)
Options :

85133013333. 1
85133013334.2
85133013335.3
85133013336. 4

Question Number : 35 Question Id : 8513303338 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List 11

List | List 1l
A. Mexican poppy . Pistia lanceolata
B. water lettuce Il. Commelina benghalensis
C. Dayflower IIl. Agremone mexicana
D. Crabgrass V. Digitaria ciliaris

Choose the correct answer from the options given below:

1. A-1, B-1I, C- I, D- IV
2. A-IV,B-1Il, C- 11, D-1
3.A-1L,B-1II,C-1,D- IV
4. A-1ll, B-1,C-1I,D- IV
Options :

85133013337. 1
85133013338. 2
85133013339.3
85133013340. 4

Question Number : 35 Question Id : 8513303338 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



gt - 1 B gt - 11 Y Faeq &

Hj:ﬁ—l gl - 1l

A) Higgs- urdl oy Tufean dfidiarer
cﬂ}wﬁ?ﬂ (1) SIAH Sy
(C) ST DEICEIEEIESEEIE]
OEEERE (v) faferean fafoarfa

i feu T1u fadedl & UHg H U Uel UHE &I 98- &9 -

1. (A) - (). (B) - (1, (<€) - (1, (D) - (IV)
2. (A) - (IV), (B) - - (), (D) - (1)
3. (A) - (), (B) - - (0. (D) - (V)
4. (A) - (1), (B) - - (). (D) - (IV)
Options :

85133013337. 1
85133013338. 2
85133013339.3
85133013340. 4

Question Number : 36 Question Id : 8513303339 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List 11

List | List 1l
A. Rice l. HQPM-5
B. Maize Il. Pusa 1121
C. Pearl millet 1l Moti
D. Sorghum V. Raj 171

Choose the correct answer from the options given below

1. A-1, B-1I, C- I, D- IV
2 A-1,B-1,C-1V,D-1
3.A-1,B-1Il, C-1,D- IV
4. A-1l, B-1,C-1I, D- IV
Options :

85133013341. 1
85133013342. 2
85133013343.3
85133013344. 4

Question Number : 36 Question Id : 8513303339 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



gt - | B gl - 11 Y HaH &

gl - | i - 1l

() drdd () T, T Ul TH. 5
(B) HF®HT (1) 1 1121

(C) TSR (1) it

(D) TaR (V) T 171

d feu T1u fadeg H ¥ 98! [dd e THg &l 99+ &Y :
1. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)

2. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)

3. (A) - (1), (B) - (1), () - (I, (D) - (IV)

4. (A) - (1), (B) - (I, (C) - (), (D) - (IV)
Options :

85133013341. 1
85133013342.2
85133013343.3
85133013344. 4

Question Number : 37 Question Id : 8513303340 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List 11

List | List 1l
A, 55P . 20%
B. DAP 1. 60%
C. MOP I1l. 46%
D. Ammonium Sulphate V. 16%

Choose the correct answer from the options given below

1. A- IV, B-1Il, C-1I, D- |
2. A-1,B- IV, C- 11, D- 1
3.A-1L,B-1II,C-1,D- IV
4. A-1, B-1I,C- I, D- IV
Options :

85133013345. 1
85133013346. 2
85133013347.3
85133013348. 4

Question Number : 37 Question Id : 8513303340 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



gt - | BT gl - 11 Y i &

i - |

T - |

(A) TH, TH, TT.

(1) 20%

(B) SI. . 4l

1) 60%

C) TH. 3. .

(D) 3HIHTH Gelbe

(
(I11) 46%
(IV) 16%

d feu TTu fadedl ¥ 9 981 fddhed THg &I 99 &9 :

A) - (IV), (B) - (I, (C) - (), (D) - ()

1. (A) -

2. (A) - (1), (B) - (IV), (C) - (1), (D) - (1)

3. (A) - (1), (B) - (1), (C) - (). (D) - (IV)
4. (A) - (), (B) - (1), (<€) - (), (D) - (IV)

Options :

85133013345. 1

85133013346.2

85133013347.3

85133013348. 4

(
(
(
(

Question Number : 38 Question Id : 8513303341 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il regarding seed weight:

List | List II
A. Rice . 20-30 g / 1000 seeds
B. Wheat Il. 36-50 g/ 1000 seeds
C. Maize 1. 200-250 g/ 1000 seeds
D. Pigeon pea V. 45-105 g/ 1000 seeds

Choose the correct answer from the options given below:

1. A- IV, B-1Il, C-1I, D- |
2. A-1I,B-1,C-1I,D-1V
3.A-11,B-1,C-1I,D- 1V
4. A-1, B-1I,C- I, D- IV
Options :

85133013349. 1
85133013350. 2
85133013351.3
85133013352. 4

Question Number : 38 Question Id : 8513303341 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



gt - | B gl - 11 Y diell & YR - &1

i - | gl - I

(A) I1dd (1) 20-30 AT /1000 &=

(8) 1§ (I1) 36-50 TTH / 1000 &Sl

(C) HaDI (I11) 200 - 250 ATH / 1000 &l
(D) 3REX (IV) 45 - 105 919 / 1000&Ta

-id feu TTu fasedl & ¥ 98l fadhed & g &1 9g4 B

1. (A) - (V). (B) - (1), (C) - (), (D) - ()
2. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)
3. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)

4. (A) - (), (B) - (1), (<€) - (), (D) - (IV)
Options :

85133013349. 1
85133013350. 2
85133013351.3
85133013352. 4

Question Number : 39 Question Id : 8513303342 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Read the following statements:

A. Candytuft and China aster are summer season annuals.
B. Calendula and Gazania are winter season annuals.

C. Portulaca and Zinnia are summer season annuals.

D. Petunia and Sweet Sultan are winter season annuals.

E. Galardia and Marigold are loose flowers.

Choose the correct answer from the options given below:

1.A B, Cand D
2B C,DandE
3.A CDandE
4. B, Cand E only
Options :
85133013353. 1
85133013354.2
85133013355.3
85133013356. 4

Question Number : 39 Question Id : 8513303342 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



frafdiad syl o1 ufeu

(A) HiScite Ud I TR TH A & Ud aug Uiy § |
(B) PAvZE T4 Tl L F S TH gug WY F |

() Uit vd forfar 7 dom & teadfa dg § |
(
(

D) fiefar ud fEae gea =iid g & thauig gie & |
E) Tcfaar ud ar ATe H SUani g § |

IWRIdd HYHl H Y el HYH| dici YHg & [ddbcd &l T8 by :

(A), (B), (C), (D)
(8), (C), (D), (E)
(A), (O, (D), (E)
&ad (B), (C), (E)
Options :
85133013353. 1
85133013354. 2
85133013355. 3
85133013356.4

1.
2.
3.
4,

Question Number : 40 Question Id : 8513303343 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Arrange the sequence of steps for preparing jelly:

A. Addition of citric acid

B. Pectin test

C. Addition of sugar

D. Straining

E. Judging

Choose the correct answer from the options given below:

1.A B CD,E
2 A CBDE
3AD,CBE
4. A, D, B CE
Options :

85133013357. 1
85133013358. 2
85133013359.3
85133013360. 4

Question Number : 40 Question Id : 8513303343 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



SIcH & @ ToTT Hol H &1 94 3 ;

1.(A) = (B) = (C) = (D) = (B)
2.(A) = (C) — (B) = (D) = (B)
3.(A) = (D) = (C) = (B) = (B)
4. (A) = (D) — (B) = (C) = (B)

Options :

85133013357. 1
85133013358. 2
85133013359.3
85133013360. 4

Question Number : 41 Question Id : 8513303344 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List 11

List | List 1l
A. Sindhu l. Amrapali x Sensation
B. Pusa Arunima Il. Ratna x Alphonso
C. Ratna lll. Alphonso x Banganpalli
D. Arka Puneet V. Neelum x Alphonso

Choose the correct answer from the options given below

1. A- I, B- 1, C- IV, D- |
2 A-1,B-1,C-1V,D-1
3.A-1,B-1,C-1I, D- IV
4. A-11, B-1II, C-1,D- IV
Options :

85133013361. 1
85133013362. 2
85133013363.3
85133013364. 4

Question Number : 41 Question Id : 8513303344 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Gaiit-1 T Tail-11 o FoeH &

gl-I -1l

(A) [y (1) ST X W=
(B) QT 3RET0MHT (1) TAT X SHehol

(C) Tl (1) 3Bl X STl
(D) HBI GHId (V) =TTH X 3feh-al
ol faded &1 90 B

- (A) - (1), (B) - (1), (€) - (V). (D) - (1)
i), (B) - (1), (C) - (IV), (D) - (1)
). (B) - (1), (C) - (1), (D) - (IV)
4. (A) - (1), (B) - (1), (<€) - (1), (D) - (IV)
Options :

85133013361. 1

85133013362. 2

85133013363.3

85133013364. 4

Question Number : 42 Question Id : 8513303345 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List 11

List | List Il
A, Grape . Arka Kiran
B. Guava Il. Muskat Red
C. Papaya Il. Manik Chaman
D. Pomegranate V. Arka Surya

Choose the correct answer from the options given below:

1. A-1I, B- 1, C- IV, D- Il
2. A-1I,B-1,C-1I,D-1V
3.A-1LB-1,C-1V,D-1
4. A- I, B- IV, C-1, D- Il
Options :

85133013365. 1
85133013366. 2
85133013367. 3
85133013368. 4

Question Number : 42 Question Id : 8513303345 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



1 -1l
(A) 3R (1) 3! fvor
(B) 3HEG (Il) A%EC 38
(C) gftdr (1) g+<® T894
(D) ¥R (IV) 311 gai
Tel [ddhcd &1 99 Difolg
1. (A) - (), (B) - (1), (C) - (IV), (D) - (1)
2. (A) - (1), (B) - (1), (C) - (), (D) - (1V)
3. (A) - (1), (B) - (1), (C) - (1v), (D) - (1)
4. (A) - (1), (B) - (IV), (C) - (1), (D) - (1)
Options :

85133013365. 1
85133013366. 2
85133013367. 3
85133013368. 4

Question Number : 43 Question Id : 8513303346 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List 11

List | List Il
A. Ber . Psorosis
B. Fig Il. Drupe
C. Pineapple IIl. Syconus
D. Grape V. Berry

Choose the correct answer from the options given below

1. A-1l, B-1, C- I, D- IV
2 A-IV,B-I,C-1I,D-1
3.A-IV,B-1IILLC-1,D-1
4. A-11, B-1II, C-1,D- IV
Options :

85133013369. 1
85133013370. 2
85133013371.3
85133013372. 4

Question Number : 43 Question Id : 8513303346 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Giit-1 T all-11 Y e Sifor :

gl-I Tql-Il

(A) ST () GRIfg
(B) 3SR (I gu

(C) A (I11) TEHE
(D) 3R (v)

= fau E fasedl # O 9! faded &1 99+ difod ;

1. (A) - (D). (B) - (1), (C) - (l), (D) - (IV)

2. (A) - (IV), (B) - (I), () - (1), (D) - (1)

3. (A) - (IV), (B) - (ln), (C) - (). (D) - (1)
(

Options :

85133013369. 1
85133013370. 2
85133013371.3
85133013372. 4

Question Number : 44 Question Id : 8513303347 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement |: Roses can be propagated by seed, stem cuttings, grafting and budding.

Statement Il: Branches of rose are prunned once in a year during second week of March in
northern plains.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement |l are false.
3. Statement | is true and Statement Il is false.
4, Statement | is false and Statement Il is true.
Options :

85133013373. 1

85133013374.2

85133013375. 3

85133013376. 4

Question Number : 44 Question Id : 8513303347 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



-id &l @Y fGu U B, 3 ufeu:

©Y - | : T[el1d 1 YaeH diel gRI, 71 dad gR1, AT gR1 U4 Sicidd- gRI fdhdl o Tobdl o

HY - |1 : ITRHRA B HEH &5 H Al & g8 9Wls | a4 H Uh §R 1A @ Bels- Bl ol
GG

SWRIdd HYHl & T4 H Fdiite Iudd [ddhed &l gg- dIfog ;

1. YT - T HY - 1| THI T8l &

2. BYF - | TG BY - || QA TTad &

3. @Y - | Gel &, e &Y - 11 TTad g
4. TYF - | TTAd &, AP Y - 1| Tl &
Options :

85133013373. 1

85133013374. 2

85133013375. 3

85133013376. 4

Question Number : 45 Question Id : 8513303348 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Marigold is highly sensitive to extreme cold conditions and it cannot withstand
the damage of frost.

Statement Il: Chrysanthemum is a long day plant for flower bud initiation and the minimum
length of continuous dark period is not necessary for flowering.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement |l are false.
3. Statement | is true and Statement Il is false.
4, Statement | is false and Statement Il is true.
Options :

85133013377. 1

85133013378.2

85133013379. 3

85133013380. 4

Question Number : 45 Question Id : 8513303348 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



= fgu 7Te HyA &1 ufeu

@Y - | ; TIGT 3US ©I TRAGHI & e HTHdGRNd &, Ud I8 UId & JhdH ®f Je- ol &
g&dl gl

®Y - 1| : [AGI3GT YW Bicibl HRPHH o (AT Sefablieia Urey g, Ud g8 YW o oL TR
HUBIRD Al BT AqH DId HaGD el 6

SWRIdd Yl b TaH H Failtd Iugdd [dbed DI 98- DIl ;

1. BY - | T BYF - 1| THl T8l

2. Y - | T4 BYF - || AT TTad 8

3. @Y - | T8l &, dftd &Y - 1| Tad g
4. TYF - | TTAd &, AP HY - 1| Tl &
Options :

85133013377. 1

85133013378. 2

85133013379. 3

85133013380. 4

Question Number : 46 Question Id : 8513303349 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Pineapple is a variety of which fruit crop?

1. Pummelo

2. Sweet Orange
3. Apple

4. Mandarin
Options :
85133013381. 1
85133013382.2



85133013383.3
85133013384. 4

Question Number : 46 Question Id : 8513303349 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
U i Bd @ fhs 8 2

1. DRI

2. HIEHT

3. 94

4. Y-
Options :
85133013381. 1
85133013382.2
85133013383.3
85133013384. 4

Question Number : 47 Question Id : 8513303350 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following is a triple disease-resistant variety of tomato?

1. Hisar Anmal
2. Arka Abha
3. Arka Samrat
4, Arka Alok
Options :
85133013385. 1
85133013386. 2
85133013387. 3
85133013388. 4



Question Number : 47 Question Id : 8513303350 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

THIER @1 feud ITRI fre SHEl § 2

1. FBOR aFEE
2. B ATHT

3. D IHIE
4, IH ATAD
Options :
85133013385. 1
85133013386.2
85133013387. 3
85133013388. 4

Question Number : 48 Question Id : 8513303351 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List 11

List | List Il
A, Whiptail . Calcium
B. Blossom end rot Il. Boron
C. Browning 1. Magnesium
D. Buttoning V. Nitrogen

Choose the correct answer from the options given below:

1. A- 1, B- 1, C-1I, D- IV
2 A-1,B-1,C-1V,D-1
3.A-1,B-1I,C-1I, D- IV
4. A- Il B-1I, C- IV, D- |
Options :

85133013389. 1
85133013390. 2
85133013391.3
85133013392. 4

Question Number : 48 Question Id : 8513303351 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Giit-1 T all-11 Y e Sifor :

- -1

(A) @IUC (1) Beags
(B) STHH UUS e () IR

(C) {3 (1) TEIREE

D} Fefh (V) AT
< TG U fa@cal § © U8l 39X &1 994 DIy :

1. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)

2. (A) - (1), (B) - (1), (C) - (1v), (D) - (11)

3. (A) - (1), (B) - (1), (C) - (), (D) - (1V)

4. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)

Options :

85133013389. 1
85133013390. 2
85133013391.3
85133013392. 4

Question Number : 49 Question Id : 8513303352 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il

List | List Il

A. Room cooling .. Tomato

B. Forced cooling Il. Carrot

C. Ice-cooled lll. Potato

D. Vacuum cooled V. Cauliflower

Choose the correct answer from the options given below:

1. A-1ll, B- 1, C- IV, D- I
2 A-1I,B-IvV,C-1,D-1
3.A-1L,B-1,C-1I, D- IV
4. A-IV,B-1, C- 11, D- Il
Options :

85133013393. 1
85133013394. 2
85133013395.3
85133013396. 4

Question Number : 49 Question Id : 8513303352 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Giit-1 T all-11 Y e Sifor :

gal-| Tl-Ii
A) D& TRiicH (1) AT
(8) IES aTg =il (1) TSR

C) 9 - 2T (111 3Te
(D) -t =fia (V) ot
o Teu 1T fdwedl  © T8l SoR &1 90 @l -

1. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)

2. (A) - (1), (B) - (IV), (C) - (1), (D) - (1)

3. (A) - (1), (B) - (1), (C) - (), (D) - (IV)

4. (A) - (IV), (B) - (1), (C) - (1), (D) - (1)
Options :

85133013393. 1
85133013394. 2
85133013395.3
85133013396. 4

Question Number : 50 Question Id : 8513303353 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Read the following statements:

A. Seed production is the most scientific method of vegetable cultivation.
B. The market garden is the most ancient method of vegetable cultivation.
C. Vegetables are grown for home consumption in a kitchen garden.

D. Market gardens are located away from the city.

E. Truck gardens are large scale production of vegetables.

Choose the correct answer from the options given below:

1. A, B, Cand E only
2. A, B and D only
3. B, Cand E only

4. A, Cand E only
Options :
85133013397. 1
85133013398. 2
85133013399. 3
85133013400. 4

Question Number : 50 Question Id : 8513303353 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133013397. 1
85133013398. 2
85133013399. 3
85133013400. 4

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Display Number Panel :

Group All Questions :

Mark As Answered Required? :

Part II Biology 3
85133040
2
Online
Mandatory
50
50
200
Yes
Yes
Yes



Sub-Section Number : 1
Sub-Section Id : 85133044
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8513303354 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The term "Ecclogy” was first time used by

1. R. Mishra

2. E. Haeckel
3. E.P. Odum
4, H. Reiter
Options :
85133013401. 1
85133013402. 2
85133013403. 3
85133013404. 4

Question Number : 51 Question Id : 8513303354 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

“FHIalal HYT Tauyd Fg H v fear o

1. AR, faen
2.3. 89
3.3 Ut 31sg
4,79, WX
Options :
85133013401. 1
85133013402. 2
85133013403. 3
85133013404. 4



Question Number : 52 Question Id : 8513303355 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Exudation of water droplets on the tips and edges of plant leaves is called
guttation. It is caused by root pressure that forces more water to enter leaves than is
transpired.

Statement lI: Transpiration is a ‘pulling’ process, hence exploration of the rise of xylem sap by
cohesion-tension mechanism begins not with roots but with leaves, where the driving force for
transpirational pull begins.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement |l is correct

Options :

85133013405. 1
85133013406. 2
85133013407. 3
85133013408. 4

Question Number : 52 Question Id : 8513303355 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133013405 1

85133013406. 2

85133013407. 3

85133013408 4

Question Number : 53 Question Id : 8513303356 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Microtubules arrangement in Eukaryotes is

1. 9+1
2. 9+2
3. 9+0
4, 8+1



Options :

85133013409. 1
85133013410. 2
85133013411. 3
85133013412. 4

Question Number : 53 Question Id : 8513303356 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
g ieaiie § G&A Al & HH Y gidl o

=

1. 9+1

2.9+2

3.9+0

4. 8+1
Options :
85133013409. 1
85133013410.2
85133013411.3
85133013412. 4

Question Number : 54 Question Id : 8513303357 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which of the following are incorrect about natural selection?

A, It is a process in which individuals with certain heritable traits survive and reproduce at a
higher rate than do other individuals

B. It is a process that occurs through interactions between individuals and their environment
resulting in the evolution of individuals

C. It is a process that can over time, increase the frequency of favourable adaptations in a
given environment

D. It is a process that disrupts the adaptation of individuals to a new environment

E. Natural selection may lead to speciation

Choose the correct answer from the options given below

1. A and B only
2. B and D only
3. D and E only
4. Cand E only
Options :
85133013413. 1
85133013414. 2
85133013415. 3
85133013416. 4

Question Number : 54 Question Id : 8513303357 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133013413. 1
85133013414. 2
85133013415. 3
85133013416. 4

Question Number : 55 Question Id : 8513303358 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

“Persistent calyx” is the characteristic feature of the family

1. Lamiaceae

2. Solanaceae
3. Poaceae

4, Cyperaceae



Options :

85133013417. 1
85133013418. 2
85133013419.3
85133013420. 4

Question Number : 55 Question Id : 8513303358 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

WHE< bagy -~ (99 31 Fguar g

Options :

85133013417. 1
85133013418. 2
85133013419. 3
85133013420. 4

Question Number : 56 Question Id : 8513303359 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List 1]

List | List 1l
A, Zearalenone . Penicillium viridicatum
B. Trichothecenes l. Fusarium moniliforme
C. Aflatoxins IIl. Cephalosporium
D. Ochratoxins V. Aspergillus flavus

Choose the correct answer from the options given below

1. A-(1), B-(I1), C-(1), D-(IV
2. A-(I1), B-(ln), C-(1v), D-(I
3. A-(lI, B-(1V), C-(11), D-(1
4. A-(IV), B-(1), C-(I1), D~
Options :

85133013421. 1
85133013422. 2
85133013423.3
85133013424. 4

[ -

Question Number : 56 Question Id : 8513303359 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1.H-1,d-1L"H-1, G-IV
29 -1, d-1,89-1V,q-I
3.9-1,d-1IV,H-1l,q-1
4. 3-1Iv,d-1L, -1, q-1l
Options :

85133013421. 1
85133013422. 2
85133013423.3
85133013424. 4

Question Number : 57 Question Id : 8513303360 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the following anticodons are used for the translation of t-RNA during the
biosynthesis of haemoglobin in sickle cell anemic patients?

1. CAC

2. CUC

3. GUG

4. GAG
Options :
85133013425. 1



85133013426. 2
85133013427.3
85133013428. 4

Question Number : 57 Question Id : 8513303360 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

e doT U H feARTIieH & Giuvl 8 9 DISH t - RNA Y90 H G981 ¢

1. CAC

2. CUC

3. GUG

4. GAG
Options :
85133013425. 1
85133013426.2
85133013427. 3
85133013428. 4

Question Number : 58 Question Id : 8513303361 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Select correct steps used in the preparation of immobilized cells

A, Cell Maobilization

B. Permeabilization

C. Growth of Cells

D. Immobilization

E. Calibration

Choose the correct answer from the options given below

1. A, B and C only
2.B,Cand D only
3.C, D and E only
4. A, Dand E only
Options :
85133013429. 1
85133013430. 2
85133013431.3
85133013432. 4

Question Number : 58 Question Id : 8513303361 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. $aq 3, 9a4d g
2. %dd §, 9adl g
3. 5909, qaad g
4, %ad 3, gaury
Options :
85133013429. 1
85133013430. 2
85133013431. 3
85133013432 4

Question Number : 59 Question Id : 8513303362 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



During growth the contents of a nucleus in human body undergo profound changes. How
many chromatids does it contain?

1. 96

2. 23

3.46

4,92

Options :
85133013433. 1
85133013434. 2
85133013435.3
85133013436. 4

Question Number : 59 Question Id : 8513303362 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
39 4 3 $ ERM 55 | 3P URad- 8ld 8, $9H B o UG B1d &

1. 96

2. 23

3. 46

4,92

Options :
85133013433. 1
85133013434.2
85133013435. 3
85133013436. 4

Question Number : 60 Question Id : 8513303363 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List 1]

List | List 11
A. Colonial algae .. Cycas
B. Agar Il. Sphagnum
C. Coralloid root ll. Gelidium
D. Peat V. Volvox

Choose the correct answer from the options given below

A-(1), B-(1), C-(1, D-(1V)
A-(1), B-(1), C-(1V), D-(ln)
A-(IV), B-(Il1), C-(1), D-(1n)
- A-[III] -(IV), C-(IN), D-(1)
Options :

85133013437. 1
85133013438. 2
85133013439.3

85133013440. 4

Question Number : 60 Question Id : 8513303363 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Gt - | BT gl -1l o HrY FAeH &R -

i - | gl - 1l

3, Il Fard || 9Dy
d. 3R 1. T
goRags 9s 1. fafsan
¢ die VACIREIES
Eﬁﬁwaﬂ_{ﬁ :

1.H-1,d-1L"H-1, G-IV
29 -1,d-1,9-1v, c- 1l
3.H-IV,d-1LH-1,q-1l
4. 3-1,d-1V, "H-1l, -1
Options :

85133013437. 1
85133013438. 2
85133013439.3
85133013440. 4

Question Number : 61 Question Id : 8513303364 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

“Triple fusion” occurs in which group of plants?

1. Gymnosperm
2. Angiosperm
3. Pteridophyte
4. Bryophyte
Options :
85133013441. 1
85133013442.2
85133013443.3



85133013444. 4

Question Number : 61 Question Id : 8513303364 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133013441. 1
85133013442.2
85133013443. 3
85133013444. 4

Question Number : 62 Question Id : 8513303365 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List 1]

List | List Il
A, Factor IV . Christmas factor
B. Factor IX Il. AHF
C. Factor XlI I, Calcium
D. Factor VI IV. Hageman factor

Choose the correct answer from the options given below:

A-(ll), B-(1), C-(1V), D-(IN)

A-(1l), B-(IV). C-(1), D-(1)

A-(1), B-(I1), C-(11), D-(1V)
4, A-[II}. B-(IV), C-(1), D-(1l)
Options :

85133013445. 1
85133013446. 2
85133013447.3
85133013448. 4

Question Number : 62 Question Id : 8513303365 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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.-, d-L"H-1IV,q-1
29 -1, d-1vV,H-1l,q-I
3.9-1,d-1N,9-1l, -1V
4. 3-1,d-1Iv, H-1,q-1l
Options :

85133013445. 1
85133013446. 2
85133013447.3
85133013448. 4

Question Number : 63 Question Id : 8513303366 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The single-stranded overhanging ends of DNA produced by the restriction
endonuclease through offset cuts in the DNA strands are called

1. Palindromes

2. Blunt-ends

3. Cohesive-ends
4. End-transcripts
Options :
85133013449. 1



85133013450. 2
85133013451.3
85133013452. 4

Question Number : 63 Question Id : 8513303366 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. Ufearg
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Options :
85133013449. 1
85133013450. 2
85133013451.3
85133013452. 4

Question Number : 64 Question Id : 8513303367 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

At each trophic level, a certain mass of living material at a particular time is known as

1. Dry weight

2. Standing crop
3. Fresh weight
4. Standing state
Options :
85133013453. 1
85133013454. 2



85133013455.3
85133013456. 4

Question Number : 64 Question Id : 8513303367 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
TS UYD TR R Goild I @ JH] eyl WY 990 R FY 9 Y S 91dl g

1. 6 HR
2. 393! Byd
3. didl HIR

4, R sq=
Options :
85133013453. 1
85133013454. 2
85133013455. 3
85133013456. 4

Question Number : 65 Question Id : 8513303368 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



In contrast to flying birds, few ratite birds have

A. Urinary bladder

B. Bone without space

C. Well-developed wings

D. Generally skin without glands

E. Internal development

Choose the correct answer from the options given below

1. A, B and E only
2. A and B only
3.C, D and E only
4. A, Cand D only
Options :
85133013457. 1
85133013458. 2
85133013459. 3
85133013460. 4

Question Number : 65 Question Id : 8513303368 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133013457. 1
85133013458. 2
85133013459. 3
85133013460. 4

Question Number : 66 Question Id : 8513303369 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If Henle's loops are absent in mammalian nephron, which one of the following will occur?

1. More dilute urine

2. No urine formation

3. Hardly any change in the quality and quantity of urine
4. More concentrated urine

Options :



85133013461. 1
85133013462. 2
85133013463.3
85133013464. 4

Question Number : 66 Question Id : 8513303369 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133013461. 1

85133013462 2

85133013463.3

85133013464. 4

Question Number : 67 Question Id : 8513303370 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Cu™" released from copper releasing intra uterine devices,

1. Makes uterus unsuitable for implantation
2. Increases phagocytosis of sperms

3. Suppresses sperm mobility

4. Prevents discharge of ova from ovary
Options :

85133013465. 1

85133013466. 2



85133013467.3
85133013468. 4

Question Number : 67 Question Id : 8513303370 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
dia HaaH 3id: U g gR1 3dliad Cu?* 4
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Options :

85133013465. 1

85133013466. 2

85133013467. 3

85133013468. 4

Question Number : 68 Question Id : 8513303371 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List 1]

List | List 1l
A. Penicillium .. TMV
B. Retrovirus Il. Antibiotic
C. Heterosporous . Sequoia
D. Giant Redwood tree V. Selaginella

Choose the correct answer from the options given below

A-(1), B-(IV), C-(1m1), D-(ll

A-(IV), B-(111, C-(1), D-(1

A-(10), B-(11), C-(1), D-(IV
4. ﬁ-l[”}- B-(1), C-(Iv), D-(1
Options :
85133013469. 1
85133013470. 2
85133013471.3
85133013472. 4

)
)
)
)

Question Number : 68 Question Id : 8513303371 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1.oH-1,d-IvV.H-1, -1
29-IV,d-1L,9-1l,q-I
3.9-11,d-1L,L°9-1, -1V
4.3 -11,d-1,°9-1v,q-1l
Options :

85133013469. 1
85133013470. 2
85133013471.3
85133013472. 4

Question Number : 69 Question Id : 8513303372 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Cleistogamous flowers are pollinated by

1. Birds

2. Insects

3. Bats

4. Self-pollination
Options :
85133013473. 1
85133013474.2
85133013475. 3



85133013476. 4

Question Number : 69 Question Id : 8513303372 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

THicg RIETO quf & TRAT &1 RS 9 &

1. Gt

2. BT

3. dHITGS
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Options :
85133013473. 1
85133013474.2
85133013475.3
85133013476. 4

Question Number : 70 Question Id : 8513303373 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



All living organisms exhibit

A. Dynamic state

B. Regulatory mechanism

C. Exchange of matter

D. No equilibrium between anabolic and catabolic processes
E. Steady-state

Choose the correct answer from the options given below

1. A, B and C only
2. A, CandE only
3. B, Cand E only
4.C, D and E only
Options :
85133013477. 1
85133013478. 2
85133013479. 3
85133013480. 4

Question Number : 70 Question Id : 8513303373 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133013477. 1
85133013478. 2
85133013479. 3
85133013480. 4

Question Number : 71 Question Id : 8513303374 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Process of transcription in bacteria involves

1. Polyadenylation, initiation, termination
2. Capping, elongation, termination

3. Elongation, splicing, termination

4. Initiation, elongation, termination
Options :



85133013481. 1
85133013482.2
85133013483.3
85133013484. 4

Question Number : 71 Question Id : 8513303374 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A & 3goe- ufshar § g g g

1. TGS HATRM, 38, G
2. BT, g, THH

3. g4, e, g9

4, TR, 94, JH0=

Options :

85133013481. 1

85133013482, 2

85133013483. 3

85133013484. 4

Question Number : 72 Question Id : 8513303375 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List 1]

List | List Il
(Hominins) (Brain Size)
A. Homo erectus |. 1400cc
B. Homo neanderthalensis Il. 440cc

C. Homo habilis I1l. 1000cc
D. Australopithecus V. 650cc

Choose the correct answer from the options given below

1. A-(1), B-(111), C-(1V), D-(II)
2. A=), B-(1), C-(11), D-(IV)
3. A=), B-(1), C-(1V), D-{II)
4. A-(1), B-{IV), C-(I1), D-(11)
Options :

85133013485. 1
85133013486. 2
85133013487.3
85133013488. 4

Question Number : 72 Question Id : 8513303375 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Gt - | BT gl -1l o HrY FAeH &R -

gl - | gl - 1l
GRISIEE) ({ARTE 4R)
3. B 3ae 1. 1400 cc
g, S THeGrIeHRT Il 440 cc

g. el efafeg 1. 1000 cc
G, ARCfeIuiey V. 650 cc
Hﬁﬁﬁﬂqﬁﬂﬁ -

T.A-1,d-1,°H-1v,q-1
23-1,d-1,89-1, -1V
3.-1,d-1L,H-1v, -1l
4. -1, d-1v, "H-1l,q-1
Options :

85133013485. 1
85133013486. 2
85133013487.3
85133013488. 4

Question Number : 73 Question Id : 8513303376 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In human female, the ovarian cycle begins when the

1. Levels of estrogen reaches its minimum

2. Hypothalamus stimulates the anterior pituitary gland to increase its output of FSH and LH
3. Level of progesterone remains constant

4. Hypothalamus increases its release of FSH and LH

Options :

85133013489. 1



85133013490. 2
85133013491. 3
85133013492. 4

Question Number : 73 Question Id : 8513303376 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
T4 A1a1 § HUSTY - 9% 9 9 URY Bl o

1. SO TR HH FFdq TR W) Ugdadl 3

2. eUIgaHY 1 figy U @1 FSH aYT LH &1 W) d6H & o 3dford #dl 8|
3. AoReH &1 wR RR Ed1 g

4, SRATATHY FSH TYUT LH &1 %1 91 &l o

Options :

85133013489. 1

85133013490. 2

85133013491. 3

85133013492 4

Question Number : 74 Question Id : 8513303377 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Identify the incorrect statements

A, ‘Lock and Key' hypothesis rules out the requirement of complementarity in enzyme active
site and substrate architecture

B. As substrates react, they become stable low energy intermediates that stay in this state
momentarily

C. Catalyst is necessary to lower the activation energy and facilitate a biochemical reaction

D. All endergonic reactions are energy-releasing and aid catabolism

E. Intracellular enzymes act within the cell

Choose the correct answer from the options given below

1. A, B and E only
2. A, Band Conly
3. A, B and D only
4. B, Cand D only
Options :
85133013493. 1
85133013494. 2
85133013495. 3
85133013496. 4

Question Number : 74 Question Id : 8513303377 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



ol By BT T4 B ;

H. A1l drell f9GTd TalgH @I G 1d Hde IR Jeice & URTRS H[aGdhdl Bl SHa=adbdl
GEGIN

9. ofY fhaeR g ove R 8id 8, MY 391l 99® 39 a1 § &fU® ¥U 5 6d o
. JaRd DI AaGDhdl Wishd Sl bl HH dd AT D AT bl IH Bl

<. g4l =S fharell # Sell Mo suureH H 9gus

7. 3ic: PINHIY TollgH DIADBT & 3ie FH B g

el [doeda IR

1. 5ad 3, 9d4T g
2. ®Had 3, a9
3. ®ad A, gaUT T
A HaqE UG
Options :
85133013493, 1
85133013494. 2
85133013495. 3
85133013496 4

Question Number : 75 Question Id : 8513303378 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



A species when defined in terms of the total interactions of all its members with the nonliving
and living part of the environment, in a specific area, is known as

1. Biological species concept

2. Ecological species concept

3. Morphological species concept
4. Interactive species concept
Options :

85133013497. 1

85133013498. 2

85133013499. 3

85133013500. 4

Question Number : 75 Question Id : 8513303378 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

d Ud Uelltd &l 39& 9y Yedi & Qaiaiul & uifdd aul (Feiid gl 3 a1 & 21YR 1R 365
&1 911 § 949 $ed o
1. FIOCToEd oIl (g

2. SHIAIEd olfd g
3. ARBIAed Sifd s

4. 3qDIeq S T
Options :

85133013497. 1
85133013498. 2
85133013499. 3
85133013500. 4

Question Number : 76 Question Id : 8513303379 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



During replication in E. coli, mutations inactivate the gene coding for beta-galactosidase.
Which of the following will be affected?

1. Hydrolysis of glucose
2. Hydrolysis of lactose

3. Hydrolysis of galactose
4. Hydrolysis of xylulose
Options :

85133013501. 1
85133013502. 2
85133013503. 3
85133013504. 4

Question Number : 76 Question Id : 8513303379 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
g @iz 4 ufadpdd & I9Y9 IARAdA & ®RU §lel - Tae s od @l b FsEd gH R HY

1. I BT o] 3T

2. TIFEIS 1 o 3{UgeH

3. ITige S 1 ol U9
4, SOl &1 od {qged
Options :

85133013501. 1
85133013502. 2
85133013503. 3
85133013504. 4

Question Number : 77 Question Id : 8513303380 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Strobilization is seen in

A, Jelly fish

B. Hydra

C. Tapeworm

D. Oligochaetes

E. Radiolarian

Choose the correct answer from the options given below

1. A and B only
2. A and C only
3.B and E only
4. Cand E only
Options :
85133013505. 1
85133013506. 2
85133013507. 3
85133013508. 4

Question Number : 77 Question Id : 8513303380 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Tip®H U Y H Ui Sl B
3. ofait fip=

Eﬁﬁwaﬂ_{ﬁ

1. Had A qUT §
2. Haa A aul g
3. ®ad §auTg
A Haagaurg
Options :
85133013505. 1
85133013506. 2
85133013507. 3
85133013508. 4

Question Number : 78 Question Id : 8513303381 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Find out the correct sequence of biological evolution of the primitive cell

A. Chemoautotrophs

B. Aerobic photoautotrophs

C. Anaerobes

D. Anaerobic photoautotrophs

E. Chemohetrotrophs

Choose the correct answer from the options given below

1.C,A B D E
2ACDEB
3.CEADB
4.C,B,AED
Options :

85133013509. 1
85133013510. 2
85133013511. 3
85133013512. 4

Question Number : 78 Question Id : 8513303381 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



HRIEHD DIRAD] BT oid [dbY DI HH G B
3. 3G U

4. A4 UPT - WUl

9. 3ardg

. Ay UH WUl

7. 7Eg fauHA Ui

ol o @] fadedid IR g -

1.HH-3H -d - =1
23 = H—-q =4 —-d
3-Y -3 -q —4d
4 -d -3 -4 =-q
Options :

85133013509. 1
85133013510. 2
85133013511. 3
85133013512. 4

Question Number : 79 Question Id : 8513303382 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The pre-excitation potential difference between outside and inside of a neuron is called

1. Reaction potential
2. Resting potential
3. Spike potential

4. Action potential
Options :



85133013513. 1
85133013514. 2
85133013515.3
85133013516. 4

Question Number : 79 Question Id : 8513303382 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

R A § gd R YT 1R Wiy Uexmd s deard g

1. U= gidTma
2. R UIezad
3. W@ UICIad
4, T3 U
Options :
85133013513. 1
85133013514. 2
85133013515. 3
85133013516.4

Question Number : 80 Question Id : 8513303383 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which of the following are NOT developed from ovary?

A Apple

B. Tomato

C. Mango

D. Coconut

E. Cashewnut

Choose the correct answer from the options given below

1. A and B only

2. A only

3. A, Cand D only
4. A and E only
Options :
85133013517. 1
85133013518. 2
85133013519.3
85133013520. 4

Question Number : 80 Question Id : 8513303383 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



g d O Gue o™ sierm 4 T8 sl ol
349
&, TR

. 3

T. Agd

7.1
Eﬁﬁwaﬂ_{ﬁ

1. Had A qUT §

2. ®Had 3

3. ®ad 3, gaul g
4. Had A qUT g
Options :
85133013517. 1
85133013518. 2
85133013519. 3
85133013520 4

Question Number : 81 Question Id : 8513303384 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In the genome, genes regulated by common regulator are placed together in an arrangement
known as

1. DNA island
2. Operon
3. Spacer
4, Repeat



Options :

85133013521. 1
85133013522. 2
85133013523.3
85133013524. 4

Question Number : 81 Question Id : 8513303384 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

ST H §9F Mg gR1 FEiEd S 919 919 364 & ®H & 9 &gl ol 6

1. 31T &
2. AR

3. IR

4. J-3{1qd
Options :
85133013521. 1
85133013522. 2
85133013523.3
85133013524. 4

Question Number : 82 Question Id : 8513303385 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List 1]

List | List Il
A. Prokaryotic . Blue-green algae
B. Chitinous cell wall ll. Monera
C. Organ system lll. Fungi
D. N3 fixation V. Animalia

Choose the correct answer from the options given below

A-(11), B-(1In), C-(1v), D-(I)

A-(1), B-(1), C-(1), D-(IV)

A=), B-(1V), C-(1). D-(11)
4. A-[ V), B-(), C-(11), D-(l)
Options :
85133013525. 1
85133013526. 2
85133013527.3
85133013528. 4

Question Number : 82 Question Id : 8513303385 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Gt - | BT gl -1l o HrY FAeH &R -

i - | gl - 1l

3, Ui . ficl g T
&, BIgic-9 DITdT AT |11 AR

. 3T aA IIl. ddH

& N, R V. ST
Eﬁﬁwaﬂ_{ﬁ

1.oH-11,d-10,8-1V, -1
29 -1, d-1,9-1,g-IV
3.9-11,d-1IV,H-1,q-1l
4. 3-1Iv,d-1L, -1, q-1l
Options :

85133013525. 1
85133013526. 2
85133013527.3
85133013528. 4

Question Number : 83 Question Id : 8513303386 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Sewage discharge in a flowing river causes an increase in biochemical oxygen
demand (BOD) due to the biodegradation of organic matter by microbes. This leads to the
mortality of fish and other aquatic creatures.

Statement ll: Sewage discharge in a flowing river causes a sharp decline in dissolved oxygen
(DO) downstream from point of discharge due to increased consumption of DO by microbes.
This leads to the mortality of fish and other aquatic creatures.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement Il is correct
Options :

85133013529. 1

85133013530. 2

85133013531.3

85133013532. 4

Question Number : 83 Question Id : 8513303386 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



AR A,
Y -

qifeard & dadi 181 H USH & BRI olid® a8 A1 (BoD) YeToldl gRI Bl UGl &
3THE & HRUT 8¢ JIdT 81 $HH URVTHGEY HSA! 94T 3= Sidd Sial &1 §de? & gis gidl
gl

BYA - |

difgdad & dgdl gl H e U gferd siRieH (Do) H ydTe fdg o ofFfl &1 3R i geasial gRI
gferd STailo & did SUGRT & HRUIEIdl § 38 PR ASC qUT 37 Siclid Sfidl 1 §gd R ¢
IR

SWIad YAl & dgH H ¥l fadedig I I+ -

1. G &YF - | YT HY - 1| T B

2. GHFI BY - | TUTHYA - | I B |

3. YT - | T g dlfch Y - 11 A ©
4, TYF - | HTA g A dYT - 1 T B
Options :

85133013529. 1

85133013530. 2

85133013531. 3

85133013532 4

Question Number : 84 Question Id : 8513303387 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Values of partial pressure of oxygen and carbon dioxide in alveolar air are 104 mm Hg and 40
mm Hg respectively. Similar values in the venous blood are

1. 104 mm Hg and 40 mm Hg
2. 40 mm Hg and 45 mm Hg
3. 46 mm Hg and 37 mm Hg
4. 120 mm Hg and 60 mm Hg
Options :

85133013533. 1

85133013534. 2
85133013535.3

85133013536. 4

Question Number : 84 Question Id : 8513303387 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
DIUH] H O, qUI CO, B G 10.4 mmHg T4 40 mmHg HHLL: U A1dl § 341 UHR Jad 1
ga1d gl Adl g |

1. 104 mmHg d4T 40 mmHg
2. 40 mmHg d4l 45 mmHg
3. 46 mmHg d4l 37 mmHg
4. 120 mmHg d4T 60 mmHg
Options :

85133013533. 1

85133013534. 2
85133013535.3

85133013536. 4

Question Number : 85 Question Id : 8513303388 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Arrange the following steps of Glycolysis, starting from last to first

A, Glyceraldehyde-3-phosphate — 1,3, bis phosphoglyceric acid
B. Fructose-6-phosphate — Fructose 1,6, bisphosphate

C. Glucose — Glucose-6-phosphate

D. 3- Phosphoglyceric Acid — 2-Phosphoglycerate

E. Phosphoenol pyruvate — Pyruvic Acid

Choose the correct answer from the options given below

1. A D EBC
2EDAEBC
3.D,EBAC
4.B,EADC
Options :

85133013537. 1
85133013538. 2
85133013539. 3
85133013540. 4

Question Number : 85 Question Id : 8513303388 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



9 & TAOeaEiay & 3id 9 UR™ & e ad
3. FIAERIT@E 8RS - 3 - BIEhe — 1, 3 - [0F BGIIPFAERD 37

d. Haea - 6 - BIEhE — Baeid - 1, 6 - fag Biahe

. DI — TIDIW - 6 - BIRWBT

. 3 - BIEDIagR® 3R — 2 - BB ITaRe
T, BRGSHAdRRde — USiifadm 3

ol o @] fadedid IR g -

1 H—-G-=d-d-4
2Y-gqg—-3H-d-94
3c—-d—-d-3 -4
4d-d-H-gq-9F
Options :

85133013537. 1
85133013538. 2
85133013539. 3
85133013540. 4

Question Number : 86 Question Id : 8513303389 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Arrange the stages in antibody production in the correct order

A, B-Cell mitosis and cloning of plasma cell

B. Antigen entry, antibody binding and endocytosis

C. Activation of B-Cell

D. Antibody Mass production

E. Antigen presentation on MHC proteins

Choose the correct answer from the options given below

1.B,D, A EC
2B ACED
3BBCEAD
4B ECAD
Options :

85133013541. 1
85133013542. 2
85133013543.3
85133013544. 4

Question Number : 86 Question Id : 8513303389 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



UCIaTEl ST & Ual 1 Hel A ford -

3. B - DIADT [GHISH TUT CITSHT DITADT B TN
4. UTeH &1 A, UTalS] 68 T USIageiiad
4. B - DD BT JeioH

. IC1aI] &l 9gd JdIeA
g, TS & MHC U ST
ol o @ fadbedid IR g -

ld-g-=3H-9-94
2d-3H-H-0-0q
3d-H-=Y-=3-0q
4d-d-H-d-0q
Options :

85133013541. 1
85133013542. 2
85133013543.3
85133013544. 4

Question Number : 87 Question Id : 8513303390 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Kranz anatomy is a characteristic feature of

1. Glycine max

2. Volvox aureus

3. Amaranthus viridis
4. Aspergillus niger
Options :



85133013545. 1
85133013546. 2
85133013547.3
85133013548. 4

Question Number : 87 Question Id : 8513303390 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

ol HidRe AT &1 B f[aRIud &

1. TS U Haw

2. FITTIFT HGTH
3. TRy [avigy
4, TGIFIeHg [HT7
Options :
85133013545. 1
85133013546. 2
85133013547. 3
85133013548. 4

Question Number : 88 Question Id : 8513303391 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which group of structures/organs have similar functions?

1. Antennae of cockroach, Tympanum of frog and Clitellum of earthworm

2. Incisors of rat, Proventiculus of cockroach and Tube feet of Asterias

3. Nephridia in earthworm, Malpighian tubules in cockroach and Nephron in rabbit

4. Typhloscle in earthworm, intestinal villi in human and Contractile vacuole in Paramecium
Options :

85133013549. 1

85133013550. 2



85133013551.3
85133013552. 4

Question Number : 88 Question Id : 8513303391 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
19 3Tl &1 THE THH Bl S Bl

1. Dld TeHI, Hed Bl SHUH qUl hgd & Dalscad

2. I B STUeR BIdhId & Wddipad dul ®RIhY o4 Bie

3. &gU & ABITST], Bield & HIageg eaad ayl @ & kM

4. U ¥ CEHIIE, HHd & S 2o aun SRiaiRes Uead—g [myr!
Options :

85133013549. 1

85133013550. 2

85133013551. 3

85133013552. 4

Question Number : 89 Question Id : 8513303392 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Arrange the following, starting from first trophic level

A, Molluscs
B. Hydrilla
C. Snake

D. Hawk

E. Fish

Choose the correct answer from the options given below

1.A B CD,E
2B A CDE
3BBAECD
4B A EDC
Options :

85133013553. 1
85133013554. 2
85133013555.3
85133013556. 4

Question Number : 89 Question Id : 8513303392 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



9 &1 U0 & TR & YR 91 a6 @1 -
3, Aiewdl

o grEiga

9. 91

G S

g A7l

ol o @ fadbedid IR g -

1 HA—-d-H-q =7
2d-3H--H-q-9
3d-3H--d-H-0q
4d-H-J-gq-9¥
Options :
85133013553. 1
85133013554. 2
85133013555.3
85133013556. 4

Question Number : 90 Question Id : 8513303393 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List 1]

List | List Il
A. Ramsar Convention l. Removal of hazardous waste
B. Helsinki Declaration Il. Sustainable development
C. Agenda-21 lIl. Limit the release of CFC
D. Basel Convention IV. Conservation of wetlands

Choose the correct answer from the options given below:

A-(IV), B-(II), C-(I1), D-(1)
A-(I1), B-(IV), C-(I1), D-(1)
A-(IV), B-(II), C-(1), D-(II)

)

4. A-(1), B-(11), C-(1m), D-(1v
Options :

85133013557. 1
85133013558. 2
85133013559. 3
85133013560. 4

Question Number : 90 Question Id : 8513303393 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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G. 990 &a%H V. dETUS B YgaHl
Eﬁﬁwaﬂ_{ﬁ :

1.oH-IvV,d-1L,8-1,G-1
29 -1, d-1IV,H-1l,q-I
3.H-IV,d-1LH-1,q-1l
4. 3-1,d-1L°9-1ll, @ -1V
Options :

85133013557. 1
85133013558. 2
85133013559. 3
85133013560. 4

Question Number : 91 Question Id : 8513303394 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Find out the correct sequence in hydrosere

A. Hydrilla
B. Oak

C. Scirpus

D. Volvox

E. Pistia

Choose the correct answer from the options given below

1.A B CD,E
2B CDEA
3D,AECEB
4.C,D,EAB
Options :

85133013561. 1
85133013562. 2
85133013563. 3
85133013564. 4

Question Number : 91 Question Id : 8513303394 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133013561. 1
85133013562. 2
85133013563. 3
85133013564. 4

Question Number : 92 Question Id : 8513303395 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



An interaction between two living individuals of different species in the same habitat where
one does not allow the other to survive, falls under

A. Gause’s hypothesis

B. Protocooperation

C. Principle of competitive exclusion

D. Ammensalism

E. Parasitism

Choose the correct answer from the options given below

1. A, Cand D only
2. A, B and E only
3.B,Cand D only
4.C, D and E only
Options :
85133013565. 1
85133013566. 2
85133013567. 3
85133013568. 4

Question Number : 92 Question Id : 8513303395 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133013565. 1
85133013566. 2
85133013567. 3
85133013568. 4

Question Number : 93 Question Id : 8513303396 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement |: Specificity of an enzyme depends on its active site architecture and is not limited
by substrate structure.

Statement Il: Complementarity of the substrate and active site architecture are necessary for
the formation of an enzyme substrate complex.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement Il is correct
Options :

85133013569. 1

85133013570. 2

85133013571.3

85133013572. 4

Question Number : 93 Question Id : 8513303396 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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4, TYF - | HTA g A dYT - 1 T B
Options :

85133013569. 1

85133013570. 2

85133013571. 3

85133013572 4

Question Number : 94 Question Id : 8513303397 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which of the following are major natural mechanisms for the breakdown of chemicals in the
environment?

A. Degradation by sunlight

B. Auto-halogenation

C. Microbial degradation

D. Auto-phosphorylation

E. Auto-oxidation

Choose the correct answer from the options given below

1. A, Cand D only
2. B, D and E only
3. A, CandE only
4. A, B and D only
Options :
85133013573. 1
85133013574. 2
85133013575.3
85133013576. 4

Question Number : 94 Question Id : 8513303397 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133013573. 1
85133013574. 2
85133013575. 3
85133013576 4

Question Number : 95 Question Id : 8513303398 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statements I: Respiratory Quotient (RQ) is the ratio of the volume of CO; evolved to the
volume of 0> consumed.

Statements II: Respiratory Quotient (RQ) is the ratio of the volume of O3 evolved to the
volume of CO; consumed.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct
Options :

85133013577. 1

85133013578.2

85133013579. 3

85133013580. 4

Question Number : 95 Question Id : 8513303398 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133013577. 1

85133013578. 2

85133013579. 3

85133013580. 4

Question Number : 96 Question Id : 8513303399 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List 1]

List | List 1l
A, Sausage . Saccharomyces cerevisiae
B. Yogurt |l. Enterobacter cloacae
C. Bread Il. Pediococcus cerevisiae
D. Sauerkraut  |IV. Streptococcus thermophilus

Choose the correct answer from the options given below

A-(1), B-(1N), C-(1), D-(1

A-(1), B-(111), C-(1v), D-(1

A-(1IT), B-(1V), C-(1), D-(I
- ﬁ-{l‘hﬁ]r B-(11), C-(1), D-(1
Options :
85133013581. 1
85133013582. 2
85133013583.3
85133013584. 4

V)
)
)
)

Question Number : 96 Question Id : 8513303399 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Gt - | BT gl -1l o HrY FAeH &R -

i - | Tl - 1l

. g . GBI TG
GRIIIE |, Geviaqey Faeial
.55 . TETHITT TG
& ORehe V. EPIEIET YHBTd
Eﬁﬁwaﬂ_{ﬁ :

1.H-1,d-1L"H-1, G-IV
29 -1, d-1,89-1V,q-I
3.9-11,d-1IV,H-1,q-1l
4. 3-Iv,d-1L,"9-1I, -1
Options :

85133013581. 1
85133013582. 2
85133013583.3
85133013584. 4

Question Number : 97 Question Id : 8513303400 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List 1]

List | List Il

A. Forelimbs of bat and human|l. Vestigial organ

B. Pelvis in snake Il. Convergent evolution

C. Darwin’s finches lll. Divergent evolution

D. Wings of butterfly and birds |IV. Adaptive radiation

Choose the correct answer from the options given below

1. A-(1), B-(I1), C-(1), D-(IV
2. A-(IV), B-(l1), C-(1n), D-(1
3. A-(1), B-(ln), C-(11), D-(Iv
4. A-(0), B-(N), C-(1v), D-(lI
Options :

85133013585. 1
85133013586. 2
85133013587. 3
85133013588. 4

[ L -

Question Number : 97 Question Id : 8513303400 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1.H-1,d-1L"H-1, G-IV
29-IV,d-1L,9-1l,q-I
3.9-1,d-1N,9-1l, -1V
4. 3-1,d-1,9-1IvV,q-1l
Options :

85133013585. 1
85133013586. 2
85133013587. 3
85133013588. 4

Question Number : 98 Question Id : 8513303401 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Name the missing link in between amphibians and reptiles

1. Lycaenops

2. Ichthyostega
3. Seymouria

4. Cynognathus
Options :
85133013589. 1
85133013590. 2
85133013591. 3



85133013592. 4

Question Number : 98 Question Id : 8513303401 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
JUTIR 9YT WYY & 9 [ ol &1 99 B

1. AEHEAY

2. SHfReS
3. Famifan

4, IEARE

Options :

85133013589. 1
85133013590. 2
85133013591. 3
85133013592. 4

Question Number : 99 Question Id : 8513303402 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Bacteroids are formed during

A. Photosynthesis

B. Chemotaxis of microbes

C. Nitrogen fixation process

D. Pollination of flowering plants

E. Magnetotaxis of microbes

Choose the correct answer from the options given below

1. A and E only
2. B and D only
3. C only

4. Cand D only
Options :
85133013593. 1
85133013594. 2
85133013595. 3
85133013596. 4

Question Number : 99 Question Id : 8513303402 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133013593. 1
85133013594. 2
85133013595. 3
85133013596. 4

Question Number : 100 Question Id : 8513303403 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Plants rapidly adjust the architecture and physiology of their roots to exploit
patches of available nutrients in the scil. Roots of many plants respond to pockets of low
nitrate availability in soil by extensively branching there.

Statement II: Plants rapidly adjust the architecture and physiology of their roots to exploit
patches of available nutrients in the soil. When encountering pockets rich in nitrate, a root
extends through the pockets instead of branching within them.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct
Options :

85133013597. 1

85133013598. 2

85133013599. 3

85133013600. 4

Question Number : 100 Question Id : 8513303403 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133013597. 1

85133013598. 2

85133013599. 3

85133013600. 4
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Question Number : 101 Question Id : 8513303404 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The correct structure of histamine is

HN

Options :

85133013601. 1
85133013602. 2
85133013603. 3
85133013604. 4

Question Number : 101 Question Id : 8513303404 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133013601. 1
85133013602. 2
85133013603. 3
85133013604. 4

Question Number : 102 Question Id : 8513303405 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The condensation of tetramethylenediamine and adipic acid gives

1. Nylon 6, 6
2. Nylon 4, 6
3. Nylon 2, 6
4. Nylon 2, 4
Options :
85133013605. 1
85133013606. 2
85133013607. 3



85133013608. 4

Question Number : 102 Question Id : 8513303405 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

U o @ Semie= SeudH @ T fufparadi g -

1. ISAA 6, 6
2. AEdAA 4,6
3. AEAH 2, 6
4. 30 2, 4
Options :

85133013605. 1
85133013606. 2
85133013607. 3
85133013608. 4

Question Number : 103 Question Id : 8513303406 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The most suitable catalyst used in the manufacturing of terelyne is

1. Zinc acetate

2. Zinc acetate- lithium oxide

3. Zinc acetate- antimony trioxide
4, Zinc acetate- lead oxide
Options :

851330136009. 1

85133013610. 2

85133013611. 3

85133013612. 4



Question Number : 103 Question Id : 8513303406 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133013609. 1

85133013610. 2

85133013611. 3

85133013612.4

Question Number : 104 Question Id : 8513303407 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The correct structure of pyran is

Options :
85133013613. 1



85133013614. 2
85133013615.3
85133013616. 4

Question Number : 104 Question Id : 8513303407 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
153 &1 gl W -

o I=

Options :

85133013613. 1
85133013614. 2
85133013615. 3
85133013616. 4

Question Number : 105 Question Id : 8513303408 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Select the correct option for the product(s) obtained on nitration of aniline using nitric acid,
sulphuric acid (both concentrated) at 288K.

MNHz

MH;
E ©,Noz
MH;
2.
@,NUZ
\ MO
NHz
’ @
NO5
MHz
4
MO5

Options :

85133013617. 1
85133013618. 2
85133013619. 3
85133013620. 4

Question Number : 105 Question Id : 8513303408 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133013617. 1
85133013618. 2
85133013619. 3
85133013620. 4

Question Number : 106 Question Id : 8513303409 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which of the following does not give positive Tollen’s test?

1. Benzaldehyde
2. Acetophenone
3. Propanal

4. Salicyaldehyde
Options :
85133013621. 1
85133013622. 2
85133013623. 3
85133013624. 4

Question Number : 106 Question Id : 8513303409 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133013621. 1
85133013622. 2
85133013623.3
85133013624. 4

Question Number : 107 Question Id : 8513303410 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



In the given reaction:

KMF'IOd_ - HESD4
@ Heat ol

‘A" (Major product) is

OH
HO

COOH
2. L
C O0H

COoH

3. LCGGH

O

OH

Options :

85133013625. 1
85133013626. 2
85133013627. 3
85133013628. 4

Question Number : 107 Question Id : 8513303410 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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OH
HO

COOH
2. L
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O

OH

Options :

85133013625. 1
85133013626. 2
85133013627. 3
85133013628. 4

Question Number : 108 Question Id : 8513303411 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



In the given reaction:

OH
@ Canc. HNGE

‘A" (Major product) is

OH
@TN%
OH
NO;

OH
3‘ @
NO3z
OH
GEN@/NGE
NO,

Options :

85133013629. 1
85133013630. 2
85133013631.3
85133013632. 4

o

Question Number : 108 Question Id : 8513303411 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 4 Wrong Marks : 1
<l T rftifsar |

OH
Conc. HMNGO,

A (A= IAG) E -

oH
1. NGz

OH
2‘ @
NO;
OH
3I ©\
NO
OH
0N NO;
=
NO5

Options :

85133013629. 1
85133013630. 2
85133013631. 3
85133013632. 4

Question Number : 109 Question Id : 8513303412 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Which of the following is most acidic?

. HOT ™

OH

i/k
OH

Options :

85133013633. 1
85133013634. 2
85133013635.3
85133013636. 4

Question Number : 109 Question Id : 8513303412 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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OH
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OH
Options :
85133013633. 1
85133013634. 2

85133013635. 3
85133013636. 4

Question Number : 110 Question Id : 8513303413 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



In the given organic reaction:

OH

Options :

85133013637. 1
85133013638. 2
85133013639. 3
85133013640. 4



Question Number : 110 Question Id : 8513303413 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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85133013637. 1
85133013638. 2
85133013639. 3
85133013640. 4

Question Number : 111 Question Id : 8513303414 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In the given organic reaction:

Br
Alz, KOH

—_—— _||:'q_
the major product ‘A’ is
1. M

2'/“\/J\

3. T

Options :

85133013641. 1
85133013642. 2
85133013643. 3
85133013644. 4

Question Number : 111 Question Id : 8513303414 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Ale. KOH
— = A

TH IAGAE

Options :

85133013641. 1
85133013642.2
85133013643. 3
85133013644. 4

Question Number : 112 Question Id : 8513303415 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

How many sigma (o) and pi (m) bonds are present in the given molecule?
NC

(HaC)al

CH

1.290, 8n
2.280,8n
3.290, Tn
4. 280, Tn



Options :

85133013645. 1
85133013646. 2
85133013647. 3
85133013648. 4

Question Number : 112 Question Id : 8513303415 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
feu g 3y o foba faw (o) QYT UTE (n) MTE= JURYA & |
NC

(HaC)aC

oo
[
0o W0 0
9 8 9
~ o @

[ L I

g, 7

R

Options :

85133013645. 1
85133013646. 2
85133013647. 3
85133013648. 4

Question Number : 113 Question Id : 8513303416 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Ammonium molybdate is the reagent used to detect

1. Nitrogen as nitrate

2. Phosphorous as phosphate
3. Sulphur as sulphate

4. lodine as iodate

Options :

85133013649. 1

85133013650. 2

85133013651. 3

85133013652. 4

Question Number : 113 Question Id : 8513303416 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

IEIE Hiftlese Us e & foTue! Yai Ui gar g

1. 93¢ & ¥4 T gl &1 Udl o o
2. Ehe & ¥U H BRGRY &I Odl - J
3. Yelbe & ¥U H Hobx &I Udl T H

4, IS & ¥U H JAISH &1 ydr o o
Options :

85133013649. 1

85133013650. 2

85133013651. 3

85133013652. 4

Question Number : 114 Question Id : 8513303417 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



For the given organic reaction:

A, H*
CsH,Cl + Hz 22 o CuHg + HCI

Alls

1. Cu

2. Cu (1)

3.Zn

4. 7n (I
Options :
85133013653. 1
85133013654.2
85133013655. 3
85133013656. 4

Question Number : 114 Question Id : 8513303417 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

&1 715 Ble-d Hihal & fau

A H*
CsH,Cl + Hp 2 o C.Hg + HC

AT -

1. Cu

2. Cu(l)

3.Zn

4. Zn (1)
Options :
85133013653. 1
85133013654.2
85133013655. 3



85133013656. 4

Question Number : 115 Question Id : 8513303418 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Select the carrect statement.

1. cis-But-2-ene has higher boiling point than trans-But-2-ene.
2. cis-But-2-ene has lower boiling point than trans-But-2-ene.

3. cis-But-2-ene has lower dipole moment than trans-But-2-ene.
4. cis-But-2-ene is non-polar.

Options :

85133013657. 1

85133013658. 2

85133013659. 3

85133013660. 4

Question Number : 115 Question Id : 8513303418 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

el By &I 994 BIfT|

1. trans-8g2-2-31 U cis-o2-2-51 @] YD AUD B

2. trans- 4C-2-5 Bl HUE cis-G2-2-51 I DY HH |

3. trans- G'Id-g-'{:[ﬁ 30 CIS—G'ICF—E—EEI &1 fgya \3‘|T‘ELUT G
4. cis-&e-2-3 Yda B

Options :

85133013657. 1

85133013658. 2

85133013659. 3

85133013660. 4



Question Number : 116 Question Id : 8513303419 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The pH of the rain water is 5.6 due to the formation of

1. HaCO
2. Ha504
3. H250;
4. HNO3
Options :
85133013661. 1
85133013662. 2
85133013663. 3
85133013664. 4

Question Number : 116 Question Id : 8513303419 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

oo AT s dRUdY Sa i pH 568, I & :

1. HaCOs
2. H2504
3. H>50;
4, HNOj;
Options :
85133013661. 1
85133013662. 2
85133013663. 3
85133013664. 4

Question Number : 117 Question Id : 8513303420 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The prefix peta used in the Sl system is

1. 1013
2.10713

3. 1018
4.10718
Options :
85133013665. 1
85133013666. 2
85133013667. 3
85133013668. 4

Question Number : 117 Question Id : 8513303420 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

S1UGid o o aral 399 Uel 8|

1. 101
2.10°13

3. 1018
410718
Options :
85133013665. 1
85133013666. 2
85133013667. 3
85133013668. 4

Question Number : 118 Question Id : 8513303421 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which of the following statements is incorrect?

1. X-rays are produced effectively when electrons strike the dense metal anode.

2. X-rays are deflected by the electric and magnetic fields.

3. X-rays have a very high penetrating power through the matter.

4. X-rays are of very short wavelength (~0.1 nm) and possesses electromagnetic character.
Options :

85133013669. 1

85133013670. 2

85133013671. 3

85133013672. 4

Question Number : 118 Question Id : 8513303421 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Fofafed Y= 5 4 ®F 91 38d o

1. X - To0] wuIdt €11 U 304 Bidl & ofd, Saide Ju- 91 & TS W YeR &d e
2. Taggd au1 9@ 19 & T, X - [0l WY grf § [Gafed 8l o 1

3. X - fepeunt @t ueref & Uo- @ 2ied ¢ifd 3= eidl 8

4. X - TR0l Hd BT a1 ¢4 (0.1 mm) 1 Bldl § 3R degd & ™ A 3@dl |
Options :

85133013669. 1

85133013670. 2

85133013671. 3

85133013672. 4

Question Number : 119 Question Id : 8513303422 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List 11

List | List Il
Different regions of the spectrum Frequencies
l. Radiofrequency A. 10° Hz
Il. Microwave B.10"3 Hz
lll. Ultraviolet region C. 107 Hz
IV. Infra-red region D. 10" Hz

Choose the correct answer from the options given below:

1. 1-B; II-A; 11-C; IV-D
2. 1-A; 1I-C; II-D; IV-B
3. 1-D; 1I-B; N-A; IV-C
4. 1-B; I-C; 1I-D; 1IV-A
Options :
85133013673. 1
85133013674. 2
85133013675.3
85133013676. 4

Question Number : 119 Question Id : 8513303422 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



&1 | H fou Waer & fafid &sf @ oam 1 5 € s 3o snafual &1 fiae sifse

S HIH ||
EIELIEIEE A.10° Hz
I, ATSHIdd B. 10"3 Hz
1. TRTSTT &3 C.10'% Hz
V. 3R & D. 10"® Hz
T2l fad ey &1 99+ it :

1. 1-B; I-A; IN-C; IV-D
2. 1-A; 1I-C; 1II-D; IV-B
3. 1-D; 11-B; -4; IV-C
4. 1-B; II-C; II-D; IV-A
Options :
85133013673. 1
85133013674. 2
85133013675. 3
85133013676. 4

Question Number : 120 Question Id : 8513303423 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Select the correct statement.

1. Lothar Meyer plotted the physical properties against the atomic number and obtained a
periodically repeated pattern.

2. French geclogist, Chancourtois made a cylindrical table of elements to display the periodic
recurrence of properties.

3. Mendeleev realized that some of the elements did not fit in with his scheme of classification
if the order of atomic number was strictly followed.

4. Seaborg was awarded the Nobel prize in chemistry for his work and element 101 has been
named Seaborgium (Sg) in his honour.

Options :

85133013677. 1

85133013678. 2

85133013679. 3
85133013680. 4

Question Number : 120 Question Id : 8513303423 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

el hY- &1 994 BIfT|

1. TR - TR gR1 Afdd N T &1 9] 9= & [&3%E R Had] U6R & Rad
WEY DB

2. Th= Y - 93T o Bicigyd - dwdl B §eHIBR HRUM, I 10T &1 3fad| &4 4 TR
g, &2 & e =

3. Heold - Uga a1 i $% awd 39! F7fies vl orgeyl H 3fad ®IH =81 Uld 8, 3¢ W]
U & 4 BT A= AR fad1 9|

4. G 9F1 1 395 B & (U WWEH fagH # Fidd QREpR 241 747 3R d@ 101 &1 A4 3%
T H diergd @1 |

Options :

85133013677. 1

85133013678. 2




85133013679. 3
85133013680. 4

Question Number : 121 Question Id : 8513303424 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The Lewis structure of O3 is

1

3/\

The correct option of the formal charge on oxygen atom 1, 2 and 3, respectively, is

1. +1,0, -1
2.-1,0, +1
3.+1,-1,0
4.0, +1, -1
Options :
85133013681. 1
85133013682. 2
85133013683. 3
85133013684. 4

Question Number : 121 Question Id : 8513303424 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



0y DI G359 W18

1

3/\

HIFHISH WA 1.2 997 3 R HHFTHEE S92 &1 Yl fdbed g

1. +1,0, -1
2.-1,0, +1
3.+1,-1,0
4.0, +1, -1
Options :
85133013681. 1
85133013682. 2
85133013683. 3
85133013684. 4

Question Number : 122 Question Id : 8513303425 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List 11

List | List 11
Hydrides Examples
. Saline hydrides A HF
Il. Electron deficient molecular hydrides B. BaHg
lIl. Electron rich molecular hydrides C. CrH
IV. Interstitial hydrides D. BeH>

Choose the correct answer from the options given below:

1. 1-A, 1-D, I-C, IV-B
2. 1-D; 11-B; NI-A; IV-C
3. 1-D; 1I-B; NI-C; IV-A
4. 1-A; 11-D; 11-B; IV-C
Options :
85133013685. 1
85133013686. 2
85133013687. 3
85133013688. 4

Question Number : 122 Question Id : 8513303425 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



HICH | & AT BT SIgs! @l [HaH HIaH || & 3ae Ul § DIfol -

HIcH | HICH ||
. TaUIT BIEslse A . HF

1. SAideH < AU gEgEe Y94 B. ByHg
Il. 3oideE 99 HfUad glgsee C. CrH

V. AR BlESleC D.BeH;
Hel A © -

1. 1-A, 1I-D, I-C, IV-B
2. 1-D; 11-B; 1-4; IV-C
3. 1-D; 11-B; -C; IV-A
4. 1-A; 11-D; 11-B; 1IV-C
Options :
85133013685. 1
85133013686. 2
85133013687. 3
85133013688. 4

Question Number : 123 Question Id : 8513303426 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Identify the reactants A, B, and C in the following reaction:

600 — 800°C

A+B+C - BeCl; + gas

1. BeQO + Cl0

2 Be + CO + Clp
3.BeQO + Clm + SO»
4Be0 + Cly + C
Options :

85133013689. 1
85133013690. 2
85133013691. 3
85133013692. 4

Question Number : 123 Question Id : 8513303426 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
fFrafciaa aififshar # ftfea® A, B 7YUT C BT SAHHYRO BifST -
600 — 800°C

A+B+C - BeCly + gas

1.BeO + (0

2 Be + CO + Clp
3.BeO + Clm + S0O»
4. BeO + Cla + C
Options :

85133013689. 1
85133013690. 2
85133013691. 3
85133013692. 4



Question Number : 124 Question Id : 8513303427 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The solubility of LiF and Csl in water is ....... X...... and ....Y......, respectively.
The magnitudes of X and Y, respectively, are

1. X = low, Y= high

2. X =low, Y = low
3.X = high,Y = low
4. X = high , Y = high
Options :
85133013693. 1
85133013694. 2
85133013695. 3
85133013696. 4

Question Number : 124 Question Id : 8513303427 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
LF TUT C<l 1 dTd | foadT SH: X JUTY §1 X dYT v & URAN § |, Bk

1. X=-44,Y =Jd=
2X=-"A4, ¥ =4
3. X=3= Y =
4 X=v3d ¥ =3dd
Options :
85133013693. 1
85133013694. 2
85133013695. 3
85133013696. 4




Question Number : 125 Question Id : 8513303428 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The correct electronegativity order of Al, Ga, In and Tl at Pauling Scale is

1TL.Al<Ga<In<Tl
2Ga<Al<In<Tl
3.In < Tl< Al < Ga
4 Al <In< Ga<TI
Options :
85133013697. 1
85133013698. 2
85133013699. 3
85133013700. 4

Question Number : 125 Question Id : 8513303428 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
GITeiT Ag OR Al Ga, In GYT Tl @1 [dGgd BUEHdl & Uel Y 5

TAl<Ga<In<Tl
2Ga<Al<In<Tl
3.In<Tl< Al < Ga
4 Al <In<Ga<Tl
Options :
85133013697. 1
85133013698. 2
85133013699. 3
85133013700. 4

Question Number : 126 Question Id : 8513303429 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The incorrect statement for Cgpis

1. It contains twenty six-membered rings and twelve five-membered rings
2. A five-membered ring can fuse with six or five-membered rings

3. A six-membered ring is fused with six or five-membered rings

4, All the carbon atoms are equal and undergo sp? hybridisation

Options :

85133013701. 1

85133013702. 2

85133013703. 3

85133013704. 4

Question Number : 126 Question Id : 8513303429 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Cep  [OTT 3 HYA B

1. 398 B: - o gadi & OEd] §1Y oyl Uid - et gad @ 9] 9XE & |
2. U Uid Yo el aod , ©: 91 Uid 9awil dadl 4 Tierd ol 9adl o

3. U9 ©: Yodll 904, ©: I1 Uid Yaw aadl § 9ferd gidl o

4. gl DIE- URH] GHH § 3R 3ADI sp® G0l 6|

Options :

85133013701. 1

85133013702. 2

85133013703. 3

85133013704. 4

Question Number : 127 Question Id : 8513303430 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



What are fractions of nickel existing as NiZ* and Ni** ions in NigesO1.00

1. Ni** = 89.48%, Ni** = 10.52%
2. Ni¥* = 10.52%, Ni** = 89.48%
3. Ni#* = 91.6%, Ni** = 8.4%

4. Ni** = 8.4%, Ni** = 91.6%
Options :

85133013705. 1

85133013706. 2

85133013707. 3

85133013708. 4

Question Number : 127 Question Id : 8513303430 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Ni 005 O 1.0 H SURYT Fdbel o, Ni2* YT Ni** 31 & 3% H1 87

1. Ni¢* = 89.48%, Ni** = 10.52%
2. Ni?* = 10.52%, Ni** = 89.48%
3. Ni?* = 91.6%, Ni** = 8.4%

4, Ni** = 8.4%, Ni** = 91.6%
Options :

85133013705. 1

85133013706. 2

85133013707. 3

85133013708. 4

Question Number : 128 Question Id : 8513303431 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The alloy, german silver contains

1. Cu, Zn and Ni
2. Cu, Zn and Ag
3. Cuand Zn

4. Cu and Ni
Options :
85133013709. 1
85133013710.2
85133013711. 3
85133013712. 4

Question Number : 128 Question Id : 8513303431 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

forsiTg o R & gaifay gid €1

1. Cu, Zn and Ni
2. Cu, Zn and Ag
3.Cu and Zn

4, Cu and Ni
Options :
85133013709. 1
85133013710. 2
85133013711. 3
85133013712. 4

Question Number : 129 Question Id : 8513303432 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which one of the following generally does not form a single bond with the atom of the same
element?

1.P

2. As

3.5b

4. Bi

Options :
85133013713. 1
85133013714. 2
85133013715.3
85133013716. 4

Question Number : 129 Question Id : 8513303432 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Fafafad o O &4 91 38 dd & U] Y Uhd HEH el &-1d] 87

1. P

2. As

3.5b

4. Bi

Options :
85133013713. 1
85133013714.2
85133013715.3
85133013716. 4

Question Number : 130 Question Id : 8513303433 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The correct order of negative electron gain enthalpy of group 16 elements is

1.0=Te =5 =<5
2Te<Se«<0<«<h
30=Te =5 <= 5e
4 5% «<Te«<0«5h
Options :
85133013717. 1
85133013718. 2
85133013719.3
85133013720. 4

Question Number : 130 Question Id : 8513303433 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

T4 16 o dedl DI BUTHD Scide Jia TAedl BT Uel HH g

1.O<=Te<Se <5
2Te<Se<0<5
30<«<Te<S=<=5e
4 5 <Te<=0=<5
Options :
85133013717. 1
85133013718.2
85133013719. 3
85133013720. 4

Question Number : 131 Question Id : 8513303434 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which one of the following oxo-acids of halogens is NOT formed?

1. HOFO

2. HOCIO

3. HOBrO>

4. HOIO;
Options :
85133013721. 1
85133013722. 2
85133013723.3
85133013724. 4

Question Number : 131 Question Id : 8513303434 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
fFrafciiad gaoHl & SfTaEl - 3l J 9 S8 U 781 a4l 52

1. HOFO

2. HOCIO

3. HOBrO»

4, HOIO;
Options :
85133013721. 1
85133013722.2
85133013723.3
85133013724. 4

Question Number : 132 Question Id : 8513303435 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



A is a colourless explosive solid. A is

1. XeFa

2. XeF>

3. XeOF4

4. XeO;
Options :
85133013725. 1
85133013726. 2
85133013727.3
85133013728. 4

Question Number : 132 Question Id : 8513303435 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A U6 TTeH [GEpicI 3Bl A © -

1. XeFy

2. XeF;

3. XeOF,

4, KeOy
Options :
85133013725. 1
85133013726.2
85133013727. 3
85133013728. 4

Question Number : 133 Question Id : 8513303436 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



X. Y and Z in the following reactions are:

MnO, + ¢ X
MnOy +4H" + 3¢ Y
MnO, +8H" + Se’ Z

1.X=Mn®", Y=MnOz Z=Mn0OZ
2.X=MnOy Y=Mn"", Z=Mn0Z
3.X=MnOs Y =MnOg, Z=Mn**
4.X = MnOs>, ¥ =MnOs, Z=Mn**
Options :

85133013729. 1

85133013730. 2

85133013731. 3

85133013732. 4

Question Number : 133 Question Id : 8513303436 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



fofeiag sfifeaai g x, v, z AR &:
MnO, +e& —— X

MnOy4 + 4H" + 3¢ Y

MnO,; +8H +5¢ — » Z

1.X=Mn®", Y=MnOz Z=Mn0OZ
2.X=MnOy Y=Mn"", Z=Mn0Z
3.X=MnOs Y =MnOg, Z=Mn**
4.X = MnOs>, ¥ =MnOs, Z=Mn**
Options :

85133013729. 1

85133013730. 2

85133013731. 3

85133013732. 4

Question Number : 134 Question Id : 8513303437 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Identify the incorrect statement about the postulates given by A. Werner.

1. Metals show two types of linkages in coordination compounds.

2. The primary valences are ionisable and are satisfied by positive ions.

3. The secondary valences are non-ionisable.

4. The ions/groups bound by the secondary linkages to the metal have characteristic special
arrangements corresponding to different coordination numbers.

Options :

85133013733. 1

85133013734.2

85133013735.3



85133013736. 4

Question Number : 134 Question Id : 8513303437 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

T 3R gRI1 ol 7T SfHyRomst & d9ey 7 30d &Y= &I Ugai-g|

1. SUHEHAIeH Tl H UIgd &l YR &I Ggaqdl a2l g |

2. Ui YA Uid: HE-1 gidl & SR 9-11 H Iqp gl ol 8 |

3. Tgd i Yaieidard 3f - SE=-g gl 5|

4. fedTae Sgagarsl aR1 g ¥ Sfed ST / i ®1 sifrenaitn 9y sga=T gidi ¢ off [afvs
eyl ¥ & HIEd Bidl o |

Options :

85133013733. 1

85133013734. 2

85133013735. 3

85133013736. 4

Question Number : 135 Question Id : 8513303438 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
When dissolved in 20 g of benzene (CgHg), 1 g of AB; lowers the freezing point by 3 K whereas
1 g of AB4 lowers it by 2 K. The atomic mass of B is u.

(Given: Molal depression constant for benzene = 5.1 K kg mol™)

1. 21.25
2.33.92

3. 42.65
4.52.11
Options :
85133013737. 1



85133013738. 2
85133013739.3
85133013740. 4

Question Number : 135 Question Id : 8513303438 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

20g S H 1g AB, @I Uit UR SUPI [8HI® 3K 92 IIdI &, Jaid AB, &I 1g TUD| 2K T
GG

B ] IRA UBfd B : -
fEm g 3= S Hie S RR® 5.1 Kkg m -1)

1. 21.25
2.33.92
3. 42.65
4.52.11
Options :
85133013737. 1
85133013738.2
85133013739.3
85133013740. 4

Question Number : 136 Question Id : 8513303439 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Choose the correct statement from the following.

1. Nitric acid (68%) and water (32%) is an example of a minimum boiling azeotrope.

2. Osmosis can be reversed if pressure lower than the osmotic pressure is applied to the
solution.

3. As compared to other colligative properties, the magnitude of osmotic pressure is large
even for very dilute solutions.

4. The condition of anoxia in mountain climbers is an application of Raoult’s law.

Options :

85133013741. 1

85133013742. 2

85133013743.3

85133013744. 4

Question Number : 136 Question Id : 8513303439 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

afafad # O 98 sy 5

1. AISCH 3T (69 %) TUT Id (32 %) U JaTexvl Hydd Y & RRE &1

2. 3¢ WERYI g1d ¥ &4 G4 Ao W @l o™ df R0 36hiid 8 odl &

3. = AU TUIHT B S{UEHT, GRRRUT GTd & GIRHT 3id 9 [l & e ol 58d 8l g1
4, TadRifedt o SEIEd B 3[aw, A3 & 190 &I 1P HHd gl

Options :

85133013741. 1

85133013742. 2

85133013743. 3

85133013744. 4

Question Number : 137 Question Id : 8513303440 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Choose the incorrect statement from the following

1. For ideal gas, Z = 1 at all temperatures and pressures.

Vooai
z — FEdL
= v

ideal

3. The graph of Z vs p will be a straight line with negative slope for an ideal gas.
4. At very low pressures, all gases have Z = 1 and behave as ideal gas.

Options :

85133013745. 1

85133013746. 2

85133013747. 3

85133013748. 4

Question Number : 137 Question Id : 8513303440 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Fafiead 3 ¥ 39d dy= 94U
1. G 79 & fog, @i auf qur g W z = 1 Bidl 8|

Vo sai
7 = real
2 V.

ideal

3. e T & U Z vs P 3MTCRE BUNHS AT &I I @ BT

A4 FAGE RN T & Wz ~ 1 A1 8, 3IR 3@ IdeR e g o sidl o
Options :

85133013745. 1

85133013746. 2

85133013747 3

85133013748, 4

Question Number : 138 Question Id : 8513303441 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Four gases Oz, CO;, Nz and NHz have the critical temperatures (all in K) 154, 304, 126, 406
respectively. The correct order for the magnitude of intermolecular forces is

1. Ngﬂ: Dgﬂi C':lgf: NH;
2. Ngﬂ: Dgﬂi NH3 = C{:}g
3. NH;*: C{:}gﬂi {:}2{ N2
4 C'Dz-:: Clzf: NH;-:i N2
Options :

85133013749. 1
85133013750. 2
85133013751.3
85133013752. 4

Question Number : 138 Question Id : 8513303441 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
IR 791 05 CO, N, TUT NH; I Shifdd aid (K H ) AT 154, 304, 126 TUT 406 € R HAUaD
9al &1 9gl A 8

1. Ngﬂ: DE‘: Csz: NH;
2. Ngﬂ: DE‘: NH3 = C{:}g
3. NH;*: C{:}gﬂ: {:}2-:: Ng
= C{:}g-{ szi NH3<: Ng
Options :

85133013749. 1
85133013750. 2
85133013751. 3
85133013752. 4

Question Number : 139 Question Id : 8513303442 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The heat required (in kJ) to raise the temperature of 54 g of Al from 30°C to 50°C is (Given:
Molar heat capacity of Al is 24 J K= mol™)

1. 960

2.073

3.096

4.9.25
Options :
85133013753. 1
85133013754. 2
85133013755.3
85133013756. 4

Question Number : 139 Question Id : 8513303442 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Al ® 54g BT Y 30° C Y 50° C I ¢ & [od TGP HW (K) ) 7 : ([BA1 & Al DI AR
S UMAr24 J KT mol ™)

1. 960

2.0.73

3. 0.96

4.9.25
Options :
85133013753. 1
85133013754.2
85133013755.3
85133013756. 4

Question Number : 140 Question Id : 8513303443 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Choose the incorrect statement out of the following.

1. A.G = 0 is the criteria for equilibrium.

2. Second law of thermodynamics explains why spontanecus exothermic reactions are so
commaon.

3. AU can discriminate between reversible and irreversible process

4. The heat released in reaction Ca0 (s) + C0,(g) — CaC04(s) is not the enthalpy of
formation of CaC0;.

Options :

85133013757. 1

85133013758. 2

85133013759.3

85133013760. 4

Question Number : 140 Question Id : 8513303443 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Fafaedd ¥ sa &Y 5

1. A,G =0 Ty & [T AFES B

2. ITIid®! @1 fgd Fom oare @xdl & & w@a: nafda Seadt sifufdar ot gay ot
gl

3. AU SEhHUIE TYT SIchAug UHHl 3 4 @ 9®d o

4. HfHFHTT €a0 (s) + €0,(g) — CaC0,(s) H Had HWHI CaCO; DI faa- WAl el 2|

Options :

85133013757. 1

85133013758 2

85133013759. 3

85133013760 4

Question Number : 141 Question Id : 8513303444 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 4 Wrong Marks : 1

In the reaction
Oxidant and reductant respectively are.

1. H202, NaHa
2. H203, N>

3. NaH4, H20
4. NaHa H202
Options :
85133013761. 1
85133013762. 2
85133013763. 3
85133013764. 4

Question Number : 141 Question Id : 8513303444 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
HATURBAT N,H (1) +2H,0, — Ny(g) + 4H,0 (D)

T HRIHR® IUT HTAHD & , HHTL: -

1. H>Op, NzH4
2. H203, N2

3. NaHa, H20
4. NaHg H2032
Options :
85133013761. 1
85133013762. 2
85133013763.3
85133013764. 4



Question Number : 142 Question Id : 8513303445 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match List I with List I

List | List Il
Reactions Type of Reactions
l. As:03 + 3H>5 — As>S3(50l) + 3H-0 A. Oxidation
. FeClz + 3H-0 — Fe(OH)s(sol) + 3HCI B. Reduction
C. Double

Il. SO + 2H25 — 35 (sol) + 2H0 »
decomposition

IV. 2AuClz+ 3HCHO + 3H>0— 2Au (sol) +

D. Hydrolysis
3HCOOH + 6HCI

1. 1-C; 1I-D; 1I-B; IV-A
2. 1-C; 1I-D; 1-A; IV-B
3. 1-D; I-C; 1-A; IV-B
4. 1-D; I-C; I-B; IV-A
Options :
85133013765. 1
85133013766. 2
85133013767. 3
85133013768. 4

Question Number : 142 Question Id : 8513303445 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



®Iad | 7 3t 715 FRufafad situfearst &1 faam sfifear & uoR foad ag ondi 8 (saan |

%E %{) > BIfoTo .
CAREN BIcH 1|
. As203 + 3H55 — As»S3(sol) + 3H-0 A, HTFH R
II. FeClz + 3H>0 — Fe(OH)s(sol) + 3HCI B. 30T
c.fgd
IIl. SO5 + 2H>S — 35 (sol) + 2H>0
2 2 (soL) 2 s
IV. 2AuClz+ 3HCHO + 3H,0— 2Au (sol) + 3HCOOH + |D. =i
6HCI g

iq%pffﬁ?lﬁé

1. 1-C; I-D; 1I-B; IV-A
2. 1-C; 1I-D; -A; IV-B
3. 1-D; I-C; 1-A; IV-B
4. 1-D; -G I-B; IV-A
Options :
85133013765. 1
85133013766. 2
85133013767. 3
85133013768. 4

Question Number : 143 Question Id : 8513303446 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following is an example of a positively charged sol?

1. Haemoglobin
2. Acid dye eosin
3. CdS

4. Gold sol



Options :

85133013769. 1
85133013770. 2
85133013771.3
85133013772. 4

Question Number : 143 Question Id : 8513303446 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Fofafad 5 4 oF91 ¥9rd® Sag AT 9id g 7

1. SrARalfeA

2. 3F I99® AN
3. Cds

4. 7lies 91
Options :
85133013769. 1
85133013770. 2
85133013771.3
85133013772. 4

Question Number : 144 Question Id : 8513303447 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following graph is incorrect?

slope = -E_/R
1. Ink

0t



For a first order reaction
log [F]/TR] k= slope x2.303
2
0 time
concentration for a first order reaction
3. of reactant

time

for zero order reaction

concentration - slope
4~ of reactant

time
Options :
85133013773. 1
85133013774. 2
85133013775.3
85133013776. 4

Question Number : 144 Question Id : 8513303447 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option

Correct Marks : 4 Wrong Marks : 1

Faftiad 3 9 S 6RE THd § 2

1. Ink

slope = -E_/R

0t

log [R]/[R]

For afirst order reaction

k= slope x2.303

concentration
3 of reactant

concentration
4, of reactant

time

for a first order reaction

time

for zer order reaction

k = - slope

: No Option Orientation : Vertical



time
Options :
85133013773. 1
85133013774. 2
85133013775.3
85133013776. 4

Question Number : 145 Question Id : 8513303448 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In an enzyme solution, sucrose undergoes fermentation. If 0.10 mol/L solution of sucrose is
reduced to 0.05 mol/L in 10 hours and to 0.025 mol/L in 20 hours, then the rate constant of
the reaction will be

1.23 x 1072 5!

2.19 x 1075~

3.19 x 102 mol~ T L]
4.23%x10 2 mol 'Ls™!
Options :

85133013777. 1
85133013778. 2
85133013779. 3
85133013780. 4

Question Number : 145 Question Id : 8513303448 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



U TogH fdegH H gebid &1 [ va gial 51 TiG 0.1 mol / L Yh1E 1 40 Ue &R 10 U H
0.05 mol/ L 3R 20 € H 0.025mol/ L B SIIdT & df Sifufdrar o a2 RRi® (Rdcad) 8 -

1.23x 1072 g~!

2.19 x 1072 ¢~

3.19x 102 mol 1 Ls™]
4.23x 10 mol~ ' Ls]
Options :

85133013777. 1
85133013778. 2
85133013779. 3
85133013780. 4

Question Number : 146 Question Id : 8513303449 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The extent of dissociation of PCls at a certain temperature is 20% at 1 atm pressure. The
pressure (in atm) at which this substance is half dissociated at the same temperature is closest
to

1.0.356
2.0.123

3. 0.789
4.0.321
Options :
85133013781. 1
85133013782.2
85133013783.3
85133013784. 4

Question Number : 146 Question Id : 8513303449 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 4 Wrong Marks : 1

U [Ed a9 U7 1atm QI8 W PCls & [d9e 3 91 20% &1 39 Uy & 341 919 U1 319
faged & foU H1999® a1d (atm ¥ ) Mdead B

1. 0.356
20127
3.0.789
4.0.321
Options :
85133013781. 1
85133013782. 2
85133013783.3
85133013784. 4

Question Number : 147 Question Id : 8513303450 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The pH when 1 mL of 13.6 M HCl is diluted with water to give 300 mL of solution is closest to
(Given:log 9 = 0.95; log 2 = 0.3010)

1. 2.349
2. 1.882
3. 1.346
4. 4501
Options :
85133013785. 1
85133013786.2
85133013787. 3
85133013788. 4

Question Number : 147 Question Id : 8513303450 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 4 Wrong Marks : 1

1 ml 13.6 M HCI @1 9d § 91 &b & 300 mL 909 31 pH Fdead 81 (61 - log 9 =
0.95; log 2 = 0.3010)

1. 2.349

2. 1.882
3.1.346

4. 4501
Options :
85133013785. 1
85133013786. 2
85133013787. 3
85133013788. 4

Question Number : 148 Question Id : 8513303451 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following statements about chemisorption is correct?

1. The chemical bonds in chemisorption are always covalent in nature.

2. Chemisorption is also known as activated adsorption.

3. Chemisorption decreases with increase of temperature.

4. Chemisorption results in multimolecular layers on adsorbent surface under high pressure.
Options :

85133013789. 1

85133013790. 2

85133013791. 3

85133013792. 4

Question Number : 148 Question Id : 8513303451 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



frafefad oyl § € & 91 Wiy & e aa g

1. THIGRIYU H IMAHD Ma=i &I Uhid &l Ge9dieid ldl &

2. JHIGYU Df Hichild HUYU & U H i Hd |

3. THIGRNYU, 919 §¢- R Uedl &

4, I=Ed IR GG & hokawd HULNS & Ydg W 98 3fUad URd YT sidl g |
Options :

85133013789. 1

85133013790. 2

85133013791. 3

85133013792. 4

Question Number : 149 Question Id : 8513303452 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The molar conductance (in S m?mol™) at infinite dilution (A7) for Ba(OH); is

(Given: A (yoom = 248.1x 107* S mmol™"; 47, =126.5x 107* S m?mol™;

(Nacl)
A (Bacty = 280.0x 1074 S m?mol ™)

1.402.2x 1074
2.2753x107¢
3.523.5x%x107¢
4, 6497 x 1074
Options :

85133013793. 1
85133013794. 2
85133013795. 3
85133013796. 4

Question Number : 149 Question Id : 8513303452 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Ba (OH); @1 3-d d-dl IR HIeR dIeidhdl ( A°m SmZmol TH) 8
ez -

A vaomy = 248.1x 1074 S m?mol ™

A vacn=  126.5x 1074 S m?mol~;

280.0 x 107* S m?mol ™)

M (Bacl)

1.402.2 x 1074
2.2753x107¢
3.5235x%x10°¢
4.649.7 x 1074
Options :

85133013793. 1
85133013794. 2
85133013795. 3
85133013796. 4

Question Number : 150 Question Id : 8513303453 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The conductivity of 0.0024 mol/L solution of methanoic acid is 110 x 107° S cm™". The degree
of dissociation of weak acid is {Given: A",+= 350 Sem®mol™!; A ;000- = 55 Scm?mol ™}

1. 0.981
2.0.792
3. 0.113
4. 0.501
Options :



85133013797. 1
85133013798. 2
85133013799. 3
85133013800. 4

Question Number : 150 Question Id : 8513303453 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

TYHISS HE b 0.0024 mol/L [0 B ITeidbal 110 X 109 Sem™ 81 Gad 3 &1 fadie aE
Bl

@8- A y+= 350 SemZmol™; A yepo-= 55 Secm2mol™)

1. 0.981
2.0.792
3.0.113

4. 0.501
Options :
85133013797. 1
85133013798. 2
85133013799. 3
85133013800. 4



